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INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.
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2. Answers will have to be given in the OMR Sheet supplied for the purpose.

| 3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
[ you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
| result in error in your marks.

(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

' 4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. AandB startfromthe same place and travel
in the same direction, B starting 2 hours after A, If
A travels 40km/h and B travels at 50 km/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500 km
(D) 100km

2. If % of my pocket money is ¥ 60, then the

total pocket money I received was
(A) 100
(B) ¥ 120
(C) T150
(D) T 180

3 Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument?

{A) Volume of the instrument
(B) Length of the vibrating part

(C) Material from which the instrumentis
made

(D) The instrument player’s skill level

5. An 12 metre flag pole casts a shadow

15 metre long. If a flag pole is 20 metre long then

the length of the shadow be
' (A) 25 metre
{(B) 60 metre
(C) 30 metre
(D) 22 metre

1. A€ B 932 Tl (A0S 93 933 fd 7@
oF I(F T8 B TG ©F TE A-9F T ©F 299
2 9%t 17 1 7 A~97 siferst 40 RfE/9%) 92 B4
sifetast 50 /9%t =7, o F© 179 #It1 B, A-F
Tfewd AR ?

(A) 400 =Bh
(8) 200 &
(C) 500 f&fy
(D) 100 R

LT TR T

2. o SwE QoL %wwz:ﬂ 605, oA

=i FeLTE CoAaiEET
(A) 100 Bt
(B) 120 Bt
(C) 150 Bt
(D). 180 Tiwt

3. (FF MA AT MW ©RTe v
e =xe
(A) 1829
(B) 1833
(C) 1843
(D) 1858

4. 96 AT T Teslife Gl =frwm B
rreia® Rded s 9= 2 TEa fie
(A) T T
(B) =+ wioa oo
(C) (@ B~imi (A 7Y (o TR
(D) THGETS (ATE Toor W

5. @35 12 foNE o9 Aeiema’ 15 fioR =
mhﬁwmﬁmﬁwmzoﬁﬁamm
O(F OIF 'R 7 =

(A) 25 RGiE
(B) 60 RoE
(C) 30T
(D) 22 forg
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6. RTE Act was implemented in India with
effect from

(A) 1st April, 2009
(B) 1st May, 2010
"(C) 1st April, 2008
(D) 1st April, 2010

7. The leaf size of vegetation is a function
of—

(A) Temperature
(B) Moisture Availability .
(C) Altitnde
(D) Temperature & Moisture both
T
8. The President of the Swaraj Party was
(A) Motilal Nehru
(B) M. M. Malavya
(C) Chittaranjan Das
(D) M.R. Jayakar

9. Ata certain school, there are 320 boys and

180 girls. The average absenteeism rate is 6%%

for boys and 81% for girls. What is the average

3 )
absenteeism rate overall for the school?

(A) 8%

(B) 7%%

(©) 1%

D) 6%%

10. Brahmaputra risesin Tibet where itis known
as

(A) Tsangpo
(B) Megna

(C) Rakasthal
(D) Yamuna
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6. ©TITS IR iR FdT Tt —eEtee
(A) 1st April, 2009
(B) 1stMay, 2010
(C) I1st April, 2008
(D) 1st April, 2010

7. ﬁrivn?ﬁa Ao TR getfae mm—
(A) SleIEt
(B) SI¥S! e
(C) Twe!
(D) Si=iNIa 3R SE! STy

8. T AAifod A4S e
(A) WfSeTe (Iees
(B) 9. A9, NETT
(C) foeaew v
(D) 9. SF. THFF

-

9. ¢t A% =, 320 o AT @R lsow
WWIWﬂvmﬁiﬁf‘mmmﬁ %

938 AR 8 % | S{Tal B ﬁ@wﬁﬁﬁ?m
Y

N

(A) 8%
o1
B) 75%
(©) 7%

(D) 6%%

10. TR Sedifews o, A aft @
AW ARfee—

(A) A
(B) st
(C) st
D) T
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11, The compound interest for ¥ 4,800 for
2 years at 5% per annum compounded annually is

(A) T 492
(B) 5,292
(C) T229
(D) T5,390

12, The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882
(D) 1984

13. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tablet at 11 AM
at what time Riya take her 8th tablet?

(A) 5 AM
(B) 8 AM
(C) 11 AM
(D) 2AM

14. For 18 days of work a man is paid ¥ 1,530.
For 30 days how much will he be paid?

(A) ¥2,380
(B) ¥2,500
(©) 2,580
(D) ¥2,550

15. Taps A and B fill a tank in 4 hours and
6 hours respectively. Tap C of the tank empties in
12 hours. If all 3 are open, how long will it take to
fill the tank?

(A) 5 hours
(B) 5.5 hours
{(C) 3 hours
(D) 3.5 hours

A-4

11. 3IfFF 5% T 4,800 511 2 I90F 5T W
G
(A) 492 it
(B) 5,292 Bt
(C) 229 Bt
(D) 5,390 Giwt

12, SFOR WP AR &7S 2 @ A 2
(A) 18973
(B) 1899 i
(C) 1882 A=
(D) 1984 A=

13. wieaR e ol fafes 9 9%t uss
83y [re | I ¢7 499 83 S0 1157 B aiE
O -5 GG T (N2

(A) Bl 5B
(B) wle 8 5
(C) = 115
(D) 2fg 2 @E

14. ¢35 @F 18 FEe Siea w1 1530 B9

I | O 30 MTE &0 3 Oil Al ?
(A) 2,380 Bt
(B) 2,500 Bt
*(C) 2,580 Bt
(D) 2,550 Gt

15. ﬂﬁmﬁﬁAﬁBﬁﬁﬂﬁﬂm4'ﬂ‘ﬁ

'8 6 M <4< e | 7 C IR 12 995t A

3| AW Tl 71 9IACH Al 97 B T
T <jdf =32

(A) 59%!

(B) 5.59%1

(C) 3 9%t

(D) 3.59%1



16. In asale, on a washing machine marked at
¥7,500a20% discount was given. The owner still
makes a 20% profit, What was the machine
originally cost him? :

(A) ¥5,000
(B) ¥6,800
(C) ¥5,500
(D) 6,000

17. By selliné a compliter for¥ 36,000, adealer
makes a 20% profit on the cost price. At what price
should the computer be sold to make a25% profit?

(A) ¥37,500 : 4
(B) ¥ 38,000
(C) ¥ 38,500
(D) ¥ 39,000

18. The greatest 4-digit number which is a
perfect square is

(A) 9999
(B) 1000
(C) 9801
(D) 9900

19. Sum of the all factors of 24 is
(A) 12 '
(B) 36
C) 48 . -
(D) 60

20. A car is travelling at a speed of 70 km/h.
What would be the dlstancc travelled by the car in
24 minutes?

(A) 28 km
(B) 35km
(C) 30km
(D) 25km
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16. 93 G, 7, soommmwﬁ\ mﬁm
Bo| 20% WG (6T e | T 576 20% S
Yfest | T eTFR GIRAT w vt ReifReem

(A) 5,000 it
(B) 6,800 5=
(C) 5,500 Bi=st
(D) 6,000 i

17. <36 FFEs 36,000 5 i [*fF =
GG Tells FEEa 20% e FE | 25% e
TS FECIRT T Witk R[ier Ta0e 2@ e

(A) 37,500 B
(B) 38,000 Giop
(C) 38,500 G
(D) 39,000 =i

18. 4 =FR sEgEe 3o e ==
(A) 9999
(B) 1000
(C) 9801
(D) 9900

19; 24-497 INE QINACET (WP T
(A) 12 -
(B) 36
(C) 48
(D) 60

20, a6 ST sfeEs == 70 Bhi/ e,
24 fifece WWWWW?

(A) 28 f5f
(B) 35 @™
(C) 30 R
(D) 25 =M
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21, Fundamental Rights contained in Part ITI of
the Constitution of India is in

"(A) Articles 12 to 35
(B) Articles 12 to 32
(C) Articles 36t0 51
(D) Article 51A

22. Find the value of a car bought for< 2,50,000
if it depreciated at 20% p.a. after 3 years.

(A) ¥2,00,000
(B) T 1,20,000
(C) ¥1,28,000
(D) ¥ 1,30,000

23. In a federal system power is—
(A) Shared
(B) A monopoly
(C) Non-existent
(D) Held by a group of dictators

24. What is the medical term for a low platelet -

count in blood?
(A) Thrombocytosis
(B) Thrombocytopenia
(C) Haemophilia
(D) Leukocytosis

25. The Blue Water Policy was associated
with
(A) Vasco da Gama
(B) Fde Almeida
(C) Albuquerque
(D) Alfonso de Souza

A-6

21, StEred ARYIET WX -9 (@K Gl
wiRwiEs R ame—

(A) SRR 12 (T 35
(B) Svan 12 (40F 32
(C) SRR 36 (AT 51
(D) =T 51A

22. 3w @36 iMfT i =7 2,50,000 iR @)
a6 2fS T=F 20% T T HF, O 3 I27 H 9K
DEUEACIETE R

(A) 2,00,000 Bri
© (B) 1,20,000 B
(C) 1,28,000 5t
(DY 1,30,000 Grat

23, YEAGY IR HAS! YPF—
(A) Sl T3t
(B) «wwhal
(C) wEeI
(D) 99 CFFIPEA O

24. 0T TN (AGE0 MANS DTy F T=
zq?

(A) LTITRBIFA
(B) e
(C) e

(D) SRR

25, = T Aok A TF 2
(A) ©ICH 7 st
(B) % & Sfemizet
(C) TR
(D) SE=FET & et



26. Find thcl value of x if 5 is written in the form

2+i2'
1+=
X

(A) 3
(B) 2
©) 6
(D) 8

27. Viticulture is related to the cultivation of
(A) Apple
(B) Orange
(C) Grape
(D) Wheat

28, Phillip and Kevin made 60 paper flowers. If
Phillip made 3 paper flowers while Kevin made 2,
then how many did Phillip make?

(A) 36
(B) 24
() 30
(D) 20

29. Inasaleallitems price are reduced by 25%.
If a customer paid ¥ 6,750 for a sound system,
then what was the regular price of the sound
system? '

(A) ¥27,000

(B) ¥20,250

(C) 9,000
- (D) ¥5,400

30. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incorrect answer. If after 26

questions are answered, Raghu scored 0, how

many questions did he answer correctly?
(a) 13 :
(B) 10
© 15
(D) 18
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26. x~a3 W FE Fc@l 799 5-F G T -

2+—42-
1+=
X

(A) 3
®) 2
© 6
D) 8.

27. Viticulture G 51 ALY F=>ifFe Gif6 25—
(A) e
(B) T
(C) =gx
D) ™

28. Trfaret g fm et 60 T <otsivers w1 (o
30 1T et 3 6 lsiuera et 0ol ta T4 (e
2 6 0ol =, o Fferet ils -0 Sisiters T o7
AL

 (A) 36
(B) 24
(©) 30
(D) 20

29. I FTE 1 EReE we 25% 2 orsal
2ot | g <RI 6,750 DI b ANTS o

(T, O FT6A Rl Wi 3 fwT?

(A) 27,000 Bt o
(B) 20,250 Bt
(C) 9,000 Bi=
(D) 5,400 Gt

30, 9B R e AR ol D

| T T 8 (RETI T . 2 vt erma e

5a o1 e | M 26T At Tew TR A9 T4

T 0 2T, O) Fosl dui Ted o7 7ie Matm e

(A) 13
B) 10
©) 15

- (D) 18

Please Turn Over



CMRI/22

31. Which Vitamin is known as Riboflavin?
"~ (A) VitaminB,

(B) VitaminD

(C) Vitamin C

(D) Vitamin A

32. A man and his son set out for a walk. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(C) 100
(D) 120

33. The best way of providing value education
is through
(A) discussions on scriptural texts.
(B) lectures/discourses on values.
(C) seminars/ symposia on values.’

(D) mentoring/ reflective sessions on
values.

34. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

{(C) IstJune, 2000

(D) 1st October, 2000

35. Under which Article of the Constituﬁon of
India can an individual move the Supreme Court

directly in case of any violation of Fundamental
Rights?

(A) 13
B) 14
©) 32
(D) 34

31. R febim framen e «fafw:
(A) ToBIRE B,
(B) feoifim D
(©) fouifim C
(D) fBifim A

32. G (TP 93RO (20 2500 e W | (=T
STG lof OfF ot oG 4ol q3-wori | 1% et
12016 45t 78, S0 Cagetio Foul 417 (a2

(A) 60
(B) 80
(C) 100
(D) 120

33, STEAIR R QT STfE Seir/ 1w
ES
(A) =iZF #it7 W =t |

(B) EUTAINR ©ola TGS ARl |
(C) ORI &7 GIvmE At Freestifert |

(D) EOCElEd Botg Grofk It Wi Tt
afonlere e |

34. & (& wigw, 2000 T TAR—
(A) 17th October, 2000
(B) 9th June, 2000
(C) 1st June, 2000
(D) 1st October, 2000 -

35. SIAST R I ST S8 (T
R s (FE owem I el AR
IS (TS AITH ?

(A) 13
(B) 14
(C) 32
(D) 34




36. Write the next term of th_e series.
5,11,19,29, ...

(A) 39
(B) 41
(C) 40
(D) 42

37. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down
a mountain.

(C) the ring shaped coral reef.
(D) a group of islands.

38. Rakesh sold his bike at a loss of 20%. If he
sold it for ¥ 5,400 more, he would have solditata
10% profit. How much did he pay for the bike?

(A) ¥ 18,000

(®) T 10,000 |
(C) ¥20,000 P
(D) T 22,000

39. The Parliament of India consists of
(A) Lok Sabha
(B) Lok Sabha and Rajya Sabha
(C) President and the two Houses
(D) Prime Minister and the two Houses

40. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥ 240 as interest at the end of Ioan period. Thus
the time period he has taken to return the loan is

(A) 4 years

(B) 16 years

(C) 8 years .
(D) 2 years S

A-9.
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36. o A< enfG e
5,11, 19,29, ......

(A) 39
(B) 41
(€) 40
(D) 42

37. QoG =
(A) FTgas SO o |
(B) IN=ICTH 5il IARA IACT4 AT A G
CEA
(C) T wiplon a=e &b
(D) Avi7fted o wer |

38. ACTIOIF AGPILFCE 20% whers [iF
FEke | aft fo wire 5,400 Bt @R fived vt
S 10% «s TS ired | O T SiF Rt
AT Pl ¢

(A) 18,000 Brt
(B) 10,000 BiF
(C) 20,000 i<
(D) 22,000 Bt

39. SIqTed A 5w SEE—
(A) AT
(B) (il @ AEpTe
" (C)- AHAlS @3k 43 WS
(D) g ¢ 72 7ew

40. ¢ 1,500 Biwl e R 49 e 7o
TR ) $oR NS I 21 8w, 240 it o fe
G 419 (1 L, L OIF 417 CoNN T STt 25

(A) 4323
(B) 16 3=
(C) 8 =g

, ) 29%R
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41. The habitat of the Toda tribe is
(A) Aravalli Range
(B) Siwalik Range
(C) Kaimur Range
(D) Nilgiri Hills

42, Which Indian state recently announced a
Universal Health Care Program providing free
medical treatment to all residents?

(A) Maharashtra
(B) Uttar Pradesh
(C) Kerala

(D) Tamil Nadu

43. The value of a new car is ¥ 4,00,000. If in
the first yearits value is decreased by 10%, find the
value of the car in the beginning of the second
year?

(A) ¥3,96,000
(B) ¥3,00,000
(C) ¥3,60,000
(D) ¥3,20,000

44, If the combined daily wage of 5 men is
¥ 3,750, how much will 20 men earn in a week?

(A) Z2,05,000
@) T 1,25,000
(©) ¥ 1,05,000
(D) Z1,50,000

45. A square PQRS is drawn on a paper and it
was folded in half to form arectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15cm
(B) 60 cm
(C) 50 cm
(D) 40 cm

A-10

41. Frel ToEifod SRR &
(A) SiaRlE @g
(B) Mafe® @y
(€) @5 @Y
(D) =R “iwe

42, SITST (@FF T TS aTh TefertH
@ (T CASNT (TN 0, IS QR
Ry Bfeer amim e

(A) TR
(B) SGa
(€) @

(D) ssifiEmig

43. @3 Tt i =T 4,00,000 51t | 7f7 295
@ AT U 10% F I, o) B IRE=I
GF0S AT 67 T WA

(A) 3,96,000 St
(B) 3,00,000 B
(C) 3,60,000 Bt
(D) 3,20,000 =R

44. T 5 T @Y @6 2 feg ofFm =
3,75051, 20T @I G AL T (@SAa TR 7

(A) 2,05,000 Bt
(B) 1,25,000 B
(C) 1,05,000 G
(D) 1,50,000 Bt

45, wisiger W6 PQRS 103 SiF T O
Gt wds ©rg WA I 30 G AfRRER
Ho9s (ofF 91 T | O PQRS-«3 #fifg =&

(A) 150
B) 60 G
(C) 50 AR
(D) 40 I

a



46. 55% of the population of a city are male,

25% of the male population and 20% of the female
population are under 21 years of age. If the
population of the city is 10,000, find the ratio
between the total population of males and females
who are under 21.

(A) 55:36

(B) 11:9

(C) 5:1

(D) 5:4

47. A tap drips water at a constant rate of

0.03 ml per second. How many litres is that per
day?
(A) 2592 ’
(B) 0.2592
(C) 0.1080

(D) 2.592

48. The ratio of girls to boys who voted in the-

electionis2 : 3.If 10moregirlsand 5 more boys were
voted, thentheratiowouldhavebeen3 : 4. Hence the
total number of students voted altogether is

(A) 325 -
B) 235
(©) 125
(D) 532

49. The geological period to which major coal
deposits of the world belong is—

(A) Cretaceous
(B) Jurassic

(C) Devonian
(D) Carboniferous

A-11

CMRI/22

46. *ITER (N6 EIFRAI 55% & 739, 44
ARAF 25% €73 W2F ALK 20% = 21 I=E@T
5 | A =g @6 EEAN 10,000 T8 W 21
JLAF NG 2JFH @ WA WG St e e

(A) 55:36 :
B) 11:9
€ 5:1
(D) 5:4

47, < 79 (AT BT W 0.03 WEHT v
A GRS #ity | o) 2fehn T© o «te?
(A) 2592
(B) 0.2592
(C) 0.1080
(D) 2.592

48. (N @3 (2 W FEsE o R
TS T 2319 10 T G @ 5 & (A
e ol 1o OF Sse 28 3: 4| ©W@ GG
(oA BRIERY! 23

(A) 325
(B) 235
(©) 125
(D) 532

49. ROT 249 T T TGS (F AR
wgse (b z—

(A) fermhmm
(B) gAIPR®
(C) CereIRA
(D) FHRCTam

Please Turn Over’
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50. A container when half full holds 3.6 litres.

How much more fluid is needed to make it % full?
(A) 7.2 litres
(B) 4.8 litres
(C) 1.2 litres
(D) 2 litres

51. The area of a square park is equal to that of
a rectangular field of length 96 m and breadth
54 m. The length of the side of the square is

(A) 72m
(B) 94 m
(C) 68m
(D) 80m

1

52. 20% of a number is equal to ——, then the"

. 30°
original number is

(A)

(B)

(©)

6
1
5
L
' 2
D) 1

53, Twotrainsaretravelling towards eachother
on adjacent tracks. The first train is 86 m long and
is moving at 120 km/h. The second train is 64m
long and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) 5 Sec
(B) 2 Sec
{C) 8 Sec
(D) 10 Sec

50. T~ T4 SEF ©fS =7, B4 3.6 BT
mqmuaﬁw%wwﬁmwmmw
IGEERACEG R CI TR

(A) 7.2 o=
(B) 4.8 &=
(C) 1.2 @B[™
(D) 2 o=

51. GBI ANES (T AL I TSI
71 11 o 96 bt e 2% 54 R o craeEa
A | 1ot stifoa sl T o =

(A) 721 -
(B) 94 f3
(C) 68
D) 80

52. 9= SR 20% % 7, S AR 2R
(4) =
®)

(©)
(D) 1

R~ = |-

53. 6 Gn ~FoEe i Tal I s
CERTeTIRE | &9 GAiod v 86 Tibia @R AAfcasl
120 f&fi/9%t) @Sm @A o 64 fBr @
sifezas 150 FfR/a% T Gee A7 Guel
e o wfeeww Fae

(A) 5 GTES
(B) 2 CTS
(©€) 8 CITS
(D) 10 TS
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54. District Primary Educanon Programme
(DPEP) was started in

(A) 1990
(B) 1994
(C) 1998
(D) 1956

55, The Lst Woman President (1917) of Indian
National Congress Party was

(A) Annie Besant

(B} Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Ali

56. Epigraphy is—

" (A) The study of inscriptions
(B) Graphical Map
(C) The detection of epics
(D) The study of epics

57 Who is regarded as the Father of Algebra?
(A) Al Khwarijmi
(B) Aryabhatta
(C) Ramanujan
(D) Pythagoras

58. ‘Ignited Minds’ is authored by
(A) Vandana Shiva
(B) Chetan Bhagat
(C) Arundhati Roy
(D) ‘A. P.J. Abdul Kalam

Ao
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54, ool A Frm (DPEP) anmwzzzr
(A) 1990 it
(B) 1994 A
(C) 1998 &

(D) 1956 A

¢

55, m@w@nm@mﬁaammwﬁ
(1917) fere=

(A) =iife ARG

(B) R A2E
(C) ¢ifel GFed
(D) Sl ST SR

56. Epigraphy T&—
(A) P=ifete sara
(B) aifEreiet wiwlbg
(€) TR AETRd
(D) TP TR

57. T AIfA0ed TS <ol AL
(A) oiw et
(B) =R ~
(C) Timieee '
(D) fotiestims

58. ‘Ignited Minds’ 32 w1t fRRe?
(A) 9= Pl
(B) GoTEM® :
(C) =TS [ .
(D) 4 . (. ww .
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$9. Godaan was written by
(A) Rabindranath Tagore
(B) Munshi Premchand
(C) Sahajanand
(D) Aurobindo Ghosh

60. The motto “Satyameva Jayate”-Truthalone
triumphs is written in -
"~ (A) Devanagari Script
(B) Kharosthi Script
(C) Gupta Script
(D) Kalinga Script

61. Tirthankara means—
(A) Three knowledgeable people
(B) The third World
(C) Ford Maker
(D) A liberated human being

62. If 3 cans of dog food will feed 2 dogs for

1day, thenhow many dogs can be fed from 42 cans
for 4 days?

(A) 6
(B) 5
©) 7
D) 8

63. Rahul can dig the garden in 30 minutes,
while his father takes 20 minutes. How lonig should
they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min

A-14

59, ‘oM BT
(A) ¥ 5ipa
(B) A cembin
(C) zEw
(D) wrafs= @

60. TSI ‘T TN’ T Y AR

(A) -(rateig) ffe-co
(B) <A@ fEfe-co
(C) wd Fisics

(D) =fem= oo

61. SidFq MH—
(A) oo @it oy
(B) v e
(C) @IS faattet
(D) e SR TqF

62. W 316 T I GO (R B T
1 W3 <isaat 3w, o 420 @& fan
4 Tiw ToulH THUCS deT I
(A) 6
(B) 5
© 7
(D) 8

'63. waﬁmﬂh{tﬂssoﬁﬁ%mmw
O AR 20 HifG ART=1s | SR G IS FAE
TS HAH #i5iw 2

(A) 10 f2f"G
(B) 12 %
(C) 155
(D) 65
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64. Wind rose diagram is used to represent
which of the following?

(A) Duration of winds only

(B) Flows between central places and
dependent places

(C) Wind directions and duration
(D) Directions of winds only

65. If ¥’ = 3 then the value of x* —
{A) =13
(B) 30
(C) 56
(D) -15

251s

66. Which Viceroy introduced Cooperative
Society in India?
(A) Lord Curzon ;
(B) Lord Wavell
(C) Lord Ripon
(D) Lord Cornwallis

67. Who among the following can be removed
by the President without Parliament’s resolution?

(A) Judge of a High Court

(B) Governor of a State

(C©) Chief Election Commissioner

(D) Comptroller and Auditor General.

68. It costs of a family of two adults and three
children ¥ 2,800 to go to a show. If a child’s ticket

cost .—,12- of the price of an adult’s ticket, then the

cost of an adult’s ticket is
(A) T 600
(B) T 800
(C) 500
(D) X700

CMRI/22

64, TTT W TR BT @G ST
] IS T2
(A) S ISIETT AFIF
B) @RT W 9 RS P Ty
#qZ
(C) I e <) FrreeT
(D) oY ISieE T

65. M x’ =3 W, O 1V - 25-97 AN TR
(A) -13
(B) 30
(C) 56
(D) -15

66. (I Viceroy ®1CS a1 Affe w1
AR
(A) o6 Fiei
(B) 6 @ATeH
(C) =76 fom
(D) =16 Ffexfr

67. AR (G Te AR e i
’WF{H‘TWW?

(A) TG Rorasife

(B) =0 Sewe

(©) @i ffew 3fxieg

(D) e =R OGS @I

68. TEA 2ATET G fomem Prog uaf iRt
OrdiE T 2,800 BRR WE6l =1 It 3 Freg
BRBa U ol dgws e PR T
Wiﬂ,wawaw@m%ﬁﬁcﬁawm

(A) 600 Bt
(B) 800 Bt
(C) 500 Bt
(D) 700 %=
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69. How much water must be added to 8 litres
of a90% acid solution to make a 75% acid solution?

(A) 1.5 litres
(B) 1.4 litres
(C) 1.2 litres
(D) 1.6 litres

70. What is the week’s wages earned by a
person who gets ¥ 3,700 per week plus 2%
commission on the sale of goods in excess of
¥ 1,00,000, if his sales total is ¥ 2,40,000?

(A) 8,500
(B) ¥ 4,800
(©) ¥6,500
D) ¥2,800

71. A petrol pump can hold enough petrol to
supply 80 cars with 35 litres each. Hence the
number of cars it can supply with 50 litres petrol
are

(A) 50
®B) 56
(€) 60
D) 66

72. Ravi has an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 957

(A) 96
(B) 99
(C) 98
(D) 95

73. A woman reduced her weight from 95 kg to
76 kg. Then the decrease per cent is

(A) 18%
(B) 9%
(©) 20%
(D) 10%

A-16

69. 3 8 I 90% wwifFe AT 75%
IS ATEHA TS TS (613 e (19l FATS 4 7
(A) 1.5 o
" (B) 1.4 fEE
(©) 1.2 F7oE
(D) 1.6 ioia

70. <3 e AR TR To =, W R
3,700 B1 I A ALIZ AW @=2%i 1,00,000 B
@& o fAfra Soiw 2% ThMA AW, 3 fof b
2,40,000 5117 i+ (& s

(A) 8,500 i
(B) 4,800 Brt
(C) 6,500 B3t
(D) 2,800 Bl

71. B HITGIE et 80 6 <if¥ts 35 ebra #a
(SR THRRIE FAIF O AT CIGE SR
G (AT ArAfe ToalE i 50 FvE
(ATRIE TWTs AR, O Rt

(A) 50
(B) 56
(C) 60
(D) 66

72, A 6 OF ASTHIF C 7HA = 93 | #iA
AFY I T 72D (A0 i 51T 799 95 AT
(A) 96 '

(B) 99
(C) 98
(D) 95

73, G ARE OIF 8T 95 (IS (AT TR
76 (TS FLATRA | ST ST ST g T
(A) 18%
(B) 9%
(©) 20%
(D) 10%
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74. Every morning Raj jogs to his work 8 km
away at a constant speed of 12km/h. How much
time is saved if he cycles one morning at a speed
of 20km/h?

(A) 24 min
(B) 40 min
(C) 16 min
(D) 12 min

75. Fourwomen, A,B,CandD invested money
in the ratio 1:4:7 ' 8 in their business. Their
profits were distributed according to their

investment. If after one year C’s share of the profit -

was T 35,000, then the B’s share of the profit was
(A) 5,000
(B) 20,000
(C) 25,000
(D) ¥ 30,000

76. Ramesh is 16 years older than Suresh.

20 years later Ramesh’s age will be four times the

present age of Suresh. The present age of Ramesh
is

(A) 12 years

(B) 28 years

(C) 36 years

(D) 32 years

77. Find the value of

1, 69x67
68 68
(A1
B) -1
G0
(D) 68

-69

78. Mariana Trench is located in which ocean?
(A) South Atlantic
(B) North Atlantic
(C) ‘West Pacific”
(D) East Pacific

74, effSfia e e 8 R e qEem
12 RfRy/ 91 3= sifore wiTa (nes 119 | 3w S
%ﬁmﬁﬁl/ﬂ@@ﬂﬂﬁﬁﬂﬁﬁ%{N@EﬁWW
N O ?

(A) 24T %
(B) 40 <G
(C) 16 Ff%
(D) 125

75. A, B, C @3 D, B & TR 1:4:7: 8

- wEine B Rt S 9w @0 A |
S Efied sl S 1 g ol b Rt

SIS | AW 9F I=F 21 C-aF FeT wAfwd 28
35,000 B!, ST B~43 #1red #Afsd 21

(A) 5,000 Bt

(B) 20,000 Bi=t

(C) 25,000 Bi=t

(D) 30,000 Tt

76. ST AT CITP 16 IR 091, 20 T =1
WWWWW4@‘TE@IW
TEI T =

(A) 12 T=7
(B) 283=d
(©) 367
(D) 32323

77. R e Fa—
1, 69x67
68 68
“(A) 1
(B) -1
(OY
(D) 68 -

78. A G PR T SRR
(A) W SBanfoT
(B) Teq wivEGE
(C) sifom eifs
(D) ¥ 2ng

—-69
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79. The Harappa Age is also called the
(A) Stone Age
(B) Iron Age
(C) Ice Age
(D) Bronze Age

80. The governmentestablished the University
Grants Commission by an Act of Parliament in the
year

(A) 1980
(B) 1948
(©) 1950
(D) 1956

81. What is the chemical symbol for Silver?
(A) Au
(B) Ag
(C) Cu
(D) Mg

82. What is the primary function of the human
kidneys?
(A) Digestion .
(B) Filtration of blood and waste excretion
(C) Oxygen transport
(D) Regulation of body temperature

83. Who was the founder of Pala Dynasty?
* (A) Gopalal
(B) Govindapala
- (C) Shurapala
(D) Divapala

79, TWHIYNF IS T |
(A) =9 '
(B) g
(C) &
D) @ig

80. LD (I T TR 10 SN2 TG
e wgfR S afest w2
(A) 1980 ‘
(B) 1948
(C) 1950
(D) 1956

81. FH AR O e
(A) Au
(B) Ag
(C) Cu
D) Mg

82. WA el el Tt @2
(A) T=0] AT
' (B) ¥ A9 93 g e
() SREKe ==
(D) A= et e

83. =il WERR e (o T e
(A) (ST ST
(B) caitfdmatia
(C) =T .
(D) frrete




’ 9 1].
Z 1122 l=9
84, 4{ 11 +122J ]

(A) 50
B) 45 .
(C) 55
(D) 30

85. Who propounded the motto “Go back to th
Vedas”?" : |
(A) Swami Dayanand Saraswati
‘(B) Bal Gangadhar Tilak
(C) Vishnu Shastri Bapat
(D) Narendra Nath Dutta

86. The sum of two numbers is 8 and their
product is 16. Then the value of the sum of the
reciprocals is

(A) 2

® >

(O 1
D) 4

87. Which nutrient is a primary contributor to
eutrophication?
(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
(C) Magnesium & Sulphur
(D) Magnesium & Potassium

88. A can with 30 marbles weighed 120 gm.,
The same can with 15 marbles weighed 95 gm.
What is the weight of the can?

(A) 25gm
(B) 50 gm
(C) 70 gm.
(D) 65gm

a
t
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; 9 1
4 —+12=|=?

(A) 50
(B) 45
() 55
(D) 30

85. (@ “@WTFEAe” ¢Elb TUiva FRTRE ?
(A) 15 wHT e
B) I T oo
(€) faze =% -5
(D) =G WS

86. T MIF QTR 8 IR @AFE 161 O
SR <7 TR EAPCTR AW I
. (A) 2

' 1
B) 3
©) 1
D) 4

87. (W AW TG IHFmg il
SRR 2 -
(A) WIREITEN G TATAA
(B) FEAMRIT Q3R FoRFAA
(C) SIS g% ATFE
(D) iR 32~k

88. 306 w7 b “{itag @sw 120 A |
@3 #Ai5a 15 b M RS 9T 95 &ife | #liea e

(A) 25 9
(B) 50 st
- (© 708
(D) 65 o
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89. Petroglyphs means

(A) the chipping of rocks to make tools.

(B) the treatment of rocks with petrol.

(C) some substance of a rock surface is
removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with
petrol before painting on them.

90, Theaverage age of a group of teachersis 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(Ay 1:2
®B)2:1
© 1:1
D) 5:1 .

91. TheBuland Darwaza was built by Akbarto
- commemorate his victory of

(A) Gujarat

(B) Khandesh
(C) Ahmednagar
{D) Berar

92. What is the smallest unit of information?
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

93. The Raurkela Steel Plant was built on the
banks of the

(A) Kharkai River
(B) Brahmani River
(C) Damodar River
(D) Shipra River

T A-20

89. Petroglyphs .
(A) ez e v gfema o)
(B) oI T N el |
(C) FRer-rda g simd-camiz, (1t @
, HNE Mg M- )
(D) cofafB3-az =t Fiena ofeeT (oiGiceTs
R 28 |

90. «¥ve W AT TWH T 35 AR G
GGTFA 1 I TE 501 I T RS 8 SgrEg
SIS T 40 ZF, e 4T @ S FRYF Seits
T3

(A) 1:2
(B) 2:1
€ 1:1
(D) 5:1"

91. T HRSAT WA OIF (Pl 2P e

-ﬁﬁﬁwﬁtﬁﬂ?

(A) @6
(B) T

(C) Hmme
(D) ="

92. ST THOT I9FF 2
(A) Bit
(B) Byte
{C) Gram
(D) Hertz

93, (SECTa! e 2o wEE (I AT S ?
(&) dR =R
(B) ar=at =
(C) w7
(D) el
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94. Three year 8 classes had the same maths
test. One class of 25 students had an average of
80%, the other class of 22 students had an average
of 75%, while the third class of 13 students had an
average of 61%. Then the average marks of all the
students in the three classes is

(A) 74%
(B) 74-05%
(C) 123-42%
D) 123%

95. Whichriver wasthe Vijayanagarakingdom
situated on?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

~ 96. The Asiatic Society of Bengal (founded in
1784) owes its origin to

(A) Sir William Jones
(B) Warren Hastings
(C) Sir James Makintosh
(D) James Princep

97. Non-conformity to social norms is called
(A) Social change
(B) Deviance
(C) Social conflict
(D) Struggle

CMR1/22

94, -fomB P37 8-9 @R sifiivex A TAlE |
GT6 25 TCNA FICTT A T =eT 809, OFF G0 22
SR FICTR 5% T 251 75% aR 13 S oF G356
BT 1% W T2zt 61% | oteget Toaib FIPHE F =
VG TG =5

(A) 74%

(B) 74:05%
(©) 123-42%
(D) 123%

95, e TS (FIN TM7 O TafEe few e
(&) g o
(B) (simiz=t
(C) FIIR
(D) w=eat

96. 1784 A amioe EIIRG oF @E-9F
AfSdrer-—
(A) prE SRR ca
(B), eAIEw &P
(C) 19 1 Syifo
(D) = fermet

97. FiNEe AAGT L ARGITGT Il

(A) TS ARRET

(B) Fgfe
(C) AT 74
D)
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98. Which phenomenon is responsible for the
formation of a rainbow when sunlight interacts in
the water droplets in the atmosphere?

(A) Diffraction
(B) Refraction and reflection
(C) Dispersion
(D) Interference

99. India recently hosted the 13th BRICS
Summit in which city?
(A) New Delhi
(B) Mumbai
(C) Bengaluru
(D) Goa

100. Malpighian Tubules are found in
(A) Respiratory system
(B) Circulatory system
(C) Digestive system
(D) Excretory system

A22

98, TSI IRTE SR GBI A A
R AG (STFR &0 VIR I ot 2

(A) Reea
(B) afesad e afowe
(C) Rugad
(D) Jfesa

99, SIS TS (FIA =TT 1389 BRICS 7w
AT TR 2
(A) 7
(B) TR
(C) [oeEF
(D) colr

100. Malpighian Tubules (AR *ieH AT 2
(A) oy
(B) TRIZTST
(C) ATory
(D) ety
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1. Fundamental Rights contained in Part IIT of
the Constitution of India is in

(A) Articles 12 to 35
(B) Articles 12 to 32
(C) Articles 36 to 51
(D) Article 51A

2. A container when half full holds 3.6 litres.

How much more fluid is needed to make it % full?
" (A) 7.2 litres
(B) 4.8 litres
(C) 1.2 litres
(D) 2 litres

3. Brahmaputrarisesin Tibet whereitisknown
as

(A) Tsangpo
(B) Megna

(C) Rakasthal
{D) Yamuna

4, The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882
(D) 1984

5. Ravi has an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 957 |

(A) 96
(B) 99
(C) 98
(D) 95

1. Sigred AR 9 [1-97 @IAH. G
it Raaeg Toe—

(A) S 12 (AT 35
(B) RIRER 12 (AGF 32
(C) SR 36 (AT 51
(D) oFoaR 51A

2. GG HAlg T ST ©fS 27, O 3.6 o
Wﬁmlﬂﬁw%wwﬁmwww
IGRERACEG R cET R

(A) 7.2 7o
(B) 4.8 &=
(©) 12 0=
(D) 2 &

3. Fae Besifers fomrs, R ot @
i AR —
(A) A
(B) o1
. (C) IS
(D) Tl

4. SO A HZA 2S 27 (B A 2
(A) 1897 A
(B) 1899 A
(C) 1882 7
(D) 1984 A

5. e it o ~RHI 4G T4 % 931 A
SR IR TS TH (5107 ©IF T T 95 A2
(A) 96
(B) 99
(C) 98
(D) 95



6. By selling acomputer for¥ 36,000, a dealer
makes a 20% profit on the cost price. At what price
should the computer be sold to make a 25% profit?

(A) 37,500
(B) ¥ 38,000
(©) T 38,500
(D) Z39,000

7. ‘Ignited Minds’ is authored by
(A) Vandana Shiva
(B) Chetan Bhagat
{C) Arundhati Roy
(D) A.P.J. Abdut Kalam

8. A petrol pump can hold enough petrol to
supply 80 cars with 35 litres each. Hence the
number of cars it can supply with 50 litres petrol
are

(A) 50
(B) 56
(C) 60
(D) 66

9. Three year 8 classes had the same maths
test. One class of 25 students had an average of
80%, the other class of 22 students had an average
of 75%, while the third class of 13 students had 'an
average of 61%. Then the average marks of all the
students in the three classes is I

(A) 74%

(B) 74-05% :
(©) 123-42% '
(D) 123%

10. 55% of the population of a city are male,
25% of the male population and 20% of the female
population are under 21 years of age. If the
population of the city is 10,000, find the ratio
between the total population of males and females
who are under 21,

(A) 55:36
B) 11:9
C) 5:1
(D) 5:4

B-3
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6. B TR 36,000 Bl i R 7@
G e TR 20% @S i 25% e
FACS FACHRIG S T [T Fare -wa?
(A) 37,500 5
(B) 38,000 e
(C) 38,500 Biwt
(D) 39,000 Bizsty

7. ‘Ignited Minds’ <9 7191 Tildw?
(A) T Bt
(B) (B S
(C) o= 7
(D) «. 9. (5. ST sttt

8. a3 (ORI 2=t 805 siifSrs 35 Fhim s
CITE FEIAE AT T AT (AGE W)
oAl (AT Silit Toef siife 50 Fom @
(AT fits AR, o A 2=

(A) 50
(B) 56
(C) 60
(D) 66

9. foafd P 8~9 2 sifdreg 5= z@fEe
D 25 TS FIOH 4G I Bt 80%, = <6 22
A PICTE 1% T e 75% 3R 13 ST 9IS G306
PR 49 25 61% | ©iFgE foais PR aEy

(A) 74%
(B) 74-:05%
(C) 123-42%
(D) 123%

10. *20a (6 EIRPRAIT 55% T <74, 5T
A 25% @R TREN AR 20% TF 21 I=&H

e | 3 *Rw @i @At 10,000 38 9E 21

AR A <7 @ AR TRYIF Sgeire el et
(A) 55:36
(B) 11:9
© 5:1
(D) 5:4
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11. The area of a square park is equal to that of
a rectangular field of length 96 m and breadth
54 m. The length of the side of the square is

(A) T2m
B) 94m
(C) 68 m
(D) 8}m

12. What is the primary function of the human
kidneys?

(A) Digestion

(B) Filtration of blood and waste excretion
(C) Oxygen transport '
(D) Regulation of body temperature

13. Inasaleallitems price are reduced by 25%.
If a customer paid I 6,750 for a sound system,

then what was the regular price of the sound
system?

(A) T27,000
(B) ¥20,250
(C) 9,000
(D) T 5,400

14. What is the chemical symbol for Silver?
(A) Au
(B) Ag
(©) Cu
(D) Mg

15. Non-conformity to social norms is calied
(A) Social change
(B) Deviance
(C) Social conflict
(D) Struggle

B-4

11. &3 35l A crama 9E G TP
i T O 96 FG1a @<k 217 54 Fo OIF cFamea
i | (RS AFT G I e =

(A) 2®
(B) 94T
(C) 687
(D) 80 W

C 12, AR e el I e
(A) == RS
(B) & AAfdig @<k I Fefam
(C) wifErem itz
(D) %I Sioar Fame

13. ¥z G 3] [&HeR 7t 25% =% et
Zfozs | aFe Wi 6,750 TR 950 NS Feow
@A, O b9 Tl w6 for 2

(A) 27,000 5=t
(B) 20,250 Bi=t
(C) 9,000 T
(D) 5,400 Ti=

14. FoliT IR 29 Fi 2
(A) Au
(B) Ag
(C) Cu
(D) Mg

15. At AleAfes MY THSYToT T
TH—
(A) AMITET «ifs
®) [ pfe
(C) e o
(D) FREm




16. India recently hosted the 13th BRICS
Summit in which city?
(A) New Delhi
(B) Mumbai
(C) Bengaluru
(D) Goa®

17. The value of a new car is ¥ 4,00,000. If in
the first yearits value is decreased by. 10%, find the
value of the car in the begmmng of the second
year? _

(A) ¥3,96,000
(B) ¥3,00,000
(C) ¥3,60,000
(D) ¥3,20,000

18. The 1st Woman President (1917) of Indian

National Congress Party was
(A) Annie Besant
(B) Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Ali

19. The sum of two numbers is 8 and their
product is 16. Then the value of the sum of the
reciprocals is

(A) 2

1
(B) 2
1

20. Godaan was written by
(A) Rabindranath Tagore
(B) Munshi Premchand
(C) Sahajanand -
(D) Aurobindo Ghosh

CMRY22

16. SIS HS (=T 1399 BRICS T
AT AR ¢
(A) = st
B) TIR
©) FHEgE
(D) csif

17. <5 g %= =7 4,00,000 51 | 7% 2
T AWfeq F=T 10% S W, o "o T=w
%WWWTW?

(A) 3,96,000 Bis
(B) 3,00,000 Bt
(©) 3,60,000 Bt
(D) 3,20,000 5ist

18. SISO T #Hifow s 1 T
(1917) e
(A) =i e
. (B) Al gy
(C) &fF cFug
(D) S SIHT S

19. i MWeGF @I 8 4R WFE 16| ©F
it [ AN QTR T TF
(A) 2

. 1
(B) 3
(©) 1
(D) 4

20, ‘et fecv
(A) FATL NFA
(B) A cawbtR
(C) w=E=
(D) w=&f ™ (@
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26. Viticulture is related to the cultivation of
(A) Apple
(B) Orange
'(C) Grape
(D) Wheat

27. A car is travelling at a spe';ed of 70 km/h.
What would be the distance travelled by the car in
24 minutes?

(A) 28 km
(B) 35km
(C) 30 km
(D) 25km

28. Sum of the all factors of 24 is
(A) 12
(B) 36
(C) 48
(D) 60

29. A square PQRS is drawn on a paper and it
was folded in half to form a rectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15¢cm
(B) 60cm
({C) 50 cm
(D) 40 cm

30. It costs of a family of two adults and three
children ¥ 2,800 to go to a show. If a child’s ticket

cost % of the price of an adult’s ticket, then the
cost of an adult’s ticket is

(A) T600

(B) T 800

(© T500

D) T700

B-7 ' | CMRI/22

26. Viticulture (3 5Iag A T¥ifFe = 25—
(A) ST
(B) Tt
(C) wmgs
D) ™

27. @36 A%y «fewe = 70 /a0,
24&%%?@%@@?

(A) 28 R
(B) 35 f&fa
(C) 30 fF[
(D) 25 i

28. 244 TG GRS CTIITeT 2
(A) 12
(B) 36
(C) 48
(D) 60

29. FE GFB PQRS I+(0wa Wil = ¥R
< forE WS ST F@ G0 30 G ARERRE
WWW@IWPQRS*@W‘@ .

(A) 15 @R
(B) 60 @ifs
(C) 50 =i
(D) 40 &

30, o alteaEs g3k foTem Mew o o
E S 2,800 DIt <961 2| ;W gl Fred
Tie0e o7 4ol STTF P BRRGT T4
ST T, OTF T AT T RO 0 ZS

(A) 600 it
(B) 800 i
(C) 500 Tl
(D) 700 Bt
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31. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

(C) 1st June, 2000

(D) 1st October, 2000

32. Who propounded the motto “Go back to the
Vedas”?

(A) Swami Dayanand Saraswati
(B) Bal Gangadhar Tilak
(C) Vishnu Shastri Bapat
(D) Narendra Nath Dutta

33. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥ 240 as interest at the end of loan period. Thus
the time period he has taken to return the loan is

(A) 4 years
(B) 16 years
(C) 8 years
(D) 2 years

34. Rahul can dig the garden in 30 minutes,
| while his father takes 20 minutes. How long should
| they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min

35. Tirthankara means—
(A) Three knowledgeable people
(B) The third World
| (C) Ford Maker
(D) A liberated human being

31. o2 @yf& wiEw, 2000 I THRE—
(A) 17th October, 2000
(B) 9th June, 2000
(C) Ist June, 2000
(D) 1st October, 2000

32. @ “@m R ae” ae Suem FEtET ¢
(A) FIT 7Y ATFO!
(B) 3 o143 foars
(C) fae =3 a1+i5
(D) @Y 7@

33. @@ 1,500 B F7e A 4k fafee 7o
T &) ©02 AT I 213 e, 240 5= 3
(1 419 (%1 0, OC ©1F 419 (*114 DA AT 26

(A) 4 7=
(B) 16 4%
(C) 8 a7
(D) 2 &R

34. 3ree @ 9 Fere 30 FWFHG T a7
©i4 311 20 TG =g wst | o @ e
TE Y FING ?

(A) 10 fuf¥5
(B) 12 ff+ 5
(C) 15 fufes
(D) 6 faifed

35. StefEg AT—
(A) Tonem R T
(B) vom f
(C) =rs ffret
(D) & e T




(A) Vitamin B,
(B) Vitamin D
(C) Vitamin C

r 36. Which Vitamin is known as Riboflavin?
\ (D) Vitamin A

37. Twotrains are travelling towards each other
on adjacent tracks. The first train is 86 m long and
is moving at 120 km/h. The second train is 64m
long and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) 5 Sec
(B) 2 Sec
(C) 8 Sec
(D) 10 Sec

38. Petroglyphs means
(A) the chipping of rocks to make tools.
(B) the treatment of rocks with petrol.

(C) some substance of a rock surface ié
removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with
petrol before painting on them.

39. If X’ = 3 then the value of x*¥ — 25 is
(A) 13 :
(B) 30
(C) 56
(D) -15

40. The leaf size of vegetation is a function
of—

(A) Temperature

(B) Moisture Availability

(C) Altitude

(D) Temperature & Moisture both

B-9.. CMRI1/22

36. @ fEBIRm fatpifen e «Rdfve:
(A) T&UIe B,
(B) RBIFRD
(C) fobifim C
(D) fobifm A

37. 4% @G oeEs e wia | s
TR | &9 GAod e 86 o «ak afferast
120 fofi/e%t et Gafbw o 64 fibrw gk
sifeet 150 Rf/9%1 7@ GEE 9 Gaof
fATEReE vl Sfoas FaR?

(A) 5CTET '

(B) 2 (TS
(©) 8IS
(D) 10 FTe

38, Petroglyphs s
(A) itz fofoR 2 gfenta tefa |
(B) At e e el |
(C) Fet-siron [ Amid-camiz, & @
FFIEE g e =
(D) (2B =st e et (oG
AR 2o

39. M K’ =3 W, S 1Y - 25T AN
(A) -13
(B) 30
(C) 56
(D) -15

40. NHAFIY “liolg oo geie w—
(A) wioat
(B) wig@! Zierst ”
(C) Swet :
(D) Sioiaial @2 syl ez
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41. The best way of providing value education
is through

(A) discussions on scriptural texts,
(B) lectures/discourses on values.
(C) seminars/ symposia on values.

(D) mentoring/ reflective sessions on
values,

42. In a federal system power is—
(A) Shared
(B) A monopoly
(C) Non-existent
(D) Held by a group of dictators

43. Rakesh sold his bike at a loss of 20%. If he
sold it for ¥ 5,400 more, he would have sold it ata
10% profit. How much did he pay for the bike?

(A) T 18,000
B) ¥ 10,000
(C) T20,000
@) 22,000

44. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tablet at 11 AM
at what time Riya take her 8th tablet?

(A) 5 AM
(B) 8 AM
(C) 11 AM
(D) 2 AM

45. An 12 metre flag pole casts a shadow
15 metre long. If a flag pole is 20 metre long then
the length of the shadow be

(A) 25 metre -
(B) 60 metre
(C) 30 metre
(D) 22 metre

B-10

41, AR Pl s Safes Sefm/ AN
LSl
(A) =& =1 e et
(B) FULINHT Bl TG =i |
(C) TeUCRIER T7F e i Fre=iifeat |
(D) RIS BoiF GFofaR J1 T Fole
afeelie eeR|

42. TSATE GIZF Tl A—
(A) Slot T4
(B) «FwhHow!
(C) el
(D) Q% (FFDA QS

43. T BTN 20% Fiore e
FafeE | 3w o wrme 5,400 Bt @ fcew s
ol 109 e Tt siace | w1 T Giew ol
EBFAREA RfEm ¢

(A) 18,000 Biwt
(B) 10,000 Gt
(C) 20,000 B
(D) 22,000 it

44. wiear fane o il 9 9% oeg
87y e | IW 7 29w 83y w9l 11 B1 R A
O(d 8-O% GT4fl B (T ?

(A) 90 55/
(B) e 8 51
(C) 19 11517
(D) =@ 2 @™

45, 375 12 FloR =gt sioreme® 15 fi5g o=t
73 oofs 7 | T «3 “feiema 20 filtR w9t @
(A) 25 FoE
(B) 60 =
(C) 30 FoE
(D) 22 fibim
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46. Which phenomenon is responsible for the " 46. WWW@WWW&W
formation of a rainbow when sunlight interacts in T e (O & T I ToA 2
the water droplets in the atmosphere? (A) R
(A) Diffraction ' ) '
(B) Refraction and reﬂectlon (B) ot s of
(C) Dispersion - © ﬁ@q
(D) Interference : (D) o=

'47. The Raurkela Steel Plant was built on the 47, CCE FOeT 2T g P A S 2

banks of the
" (A) Kharkai River (;; ::aiij
(B) Brahmani River
(C) Damodar River (C) wicaws =i
. (D) Shipra River (D). Mzt =
48. Who is regarded as the Father of Algebra" 48. IF Roefires T o1 W e
(A) Al Khwarijmi (A) S LeTfe
(B) Aryabhatta (B) e
(C) Ramanujan
(D) Pythagoras ((E; m
49. The compound interest for ¥ 4,800 for 49, S 5% 4a 4,8005F 2 9 5 I
2 years at 5% per annum compounded annually is E1C)
(A) 492 (A) 492 51
®) 5,292 (B) 5,292 B
(©) 3229 (C) 229 5=t
(@) ¥5:3%0 (D) 5,390 B

50. Epigraphy 15—

(A) The study of inscriptions (A) e waEm
(B) Graphical Map

(C) The detection of epi (B) 2 Mwbg

e detection of epics

(D) The study of epics (C) TRFNIT = AEHId
(D) QLT TGIA

50. Epigraphy T&—
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CMRI/22

51. The government established the University
Grants Commission by an Act of Parliament in the
year

(A) 1980
(B) 1948
(C) 1950
(D) 1956

52. A tap drips water at a constant rate of
0.03 ml per second. How many litres is that per
day?

(A) 2592
(B) 0.2592
(C) 0.1080

(D) 2.592

53. A womanreduced her weight from 95 kg to
76 kg. Then the decrease per cent is

- (A) 18%
(B) 9%
(C) 20%
D) 10%

54. The Harappa Age is also called the .
"(A) Stone Age '
(B) Ifon Age
(C) Ice Age
(D) Bronze Age

L , then the

55. 20% of a number is equal to 30

original number is

@A) =

(B)

(&)

6
1
5
1
2
D) 1

B-12

51. AT (W TN FOTHS G5 SR
fufgieTn wgf shmm afeot s
(A) 1980
(B) 1948
(C) 1950
(D) 1956

52. 3 e (AF FE @@ 0.03 fifFRE w5
oS FIETS *ite | o1 afslin o o «te?
(A) 2592
(B) 0.2592
(C) 0.1080
(D) 2.592

53, TG AR OF 8T 95 (ST (AWF FOW
76 (& TCACRA | OIREE *OFA GG ZPT 25
(A) 18%
(B) 9%
{(O) 20%
D) 10%

54, REI LS o0 o1l |
(A) o7
(B) E1ig
(©) =T
(D) @&

1

55. @0 AT 20% 30

o, O Mt T3
(A)
(B)

©
D)

=N = v




56. What is the medical term for a low platelet
count in blood?

(A) Thrombocytosis
(B) Thrombocytopenia
(C) Haemophilia

(D) Leukocytosis

57. A can with 30 marbles weighed 120 gm.
The same can with 15 marbles weighed. 95 gm.
What is the weight of the can?

(A) 25gm
(B) 50 gm
(C) 70 gm
(D) 65 gm

58. The Parliament of India consists of
{A) Lok Sabha
(B} Lok Sabha and Rajya Sabha
(C) President and the two Houses
(D) Prime Minister and the two Houses

59. If 3 cans of dog food will feed 2 dogs for

1day, then how many dogs can be fed from 42 cans
for 4 days?

(A) 6
®B) 5
7
D) 8

60. Write the next term of the series.
5,11,19,29, ...
(A) 39 :
(B) 41
(C) 40
(D) 42

B-13
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56, chﬁtﬁ%mﬁm%ﬁmm%‘lw
Cuts
(A) ARG
(B) avarTRGsta

(C) it
(D) Giormimitm

57. 30 5 M Af2s GFio AEq 9\ 120 Al |
@2 Aitg2 15 T e ARS 9T 95 &1 | #AiGad 9eH
FE?

(A) 25 2
(B) 50 &
(C) 70 g%
(D) 65 4™

. 58, ©H0ed FOW AP TE—
(A) TSl
(B) EigTe! 8 ArEHe!
(€) =BT G R G
(D) 2R R 72 TH

59, % 30 TFCE AR (F! (AT FTAS
1 i <reme @, v 42 Rt i
4 fats woole TFace NMeTe @2
(A) 6
®) 5
© 7
. D) 8

60, cui sigref A el |
5,11, 19,29, ......
(A) 39 '
B) 41
(C) 40
(D) 42
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61. A and B start from the same place and travel
‘in the same direction, B starting 2 hours after A. If
A travels 40 km/h and B travels at 50 km/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500km
(D) 100 km

62. Phillip and Kevin made 60 paper flowers. If
Phillip made 3 paper flowers while Kevin made 2,
then how many did Ph1111p make?

(A) 36
(B) 24
(C) 30
) 20

63. The Buland Darwaza was built by Akbarto
commemorate his victory of

(A) Gujarat

(B) Khandesh

(C) Ahmednagar

(D) Berar |

64. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down
. 4 mountain.

(C) the ring shaped coral reef,
(D) a group of islands.

65. Find the value of

1  69x67

§+_68 -69

A) 1
(B) -1
©) 0
(D) 68

B-14

61. A 9R B <3 @6l (A G 93 T 3
OF 7 % B a4 ©F FE A-9F T ©F WA
2791 7173 1977 A7 SifSra91 40 i/ 951 @3¢ Bag
sifetast 50 f6fl/ 9! =7, O3 T Y AR B, A
RIS A2

(A) 400 fft
(B) 200 i
(C) 500 &
(D) 100 &M

62. T%fEiet 3 (fem it 60 16 sicers o1 tofd
30 |1 3 Referet 3 6 rorter 3o (ofs v 33 cofem
PAINSIE RS W%ﬁ"fﬁﬁﬁf -6 lsiterd o= (o
FAL?

(A) 36
(B) 24
(C) 30
(D) 20

63. 3o TRGTS TR ©IF (1] ST

el a2

(A) web
(B) <o
(C) =zpm«sts
(D) (T4

64. Qiielg = _
(A) THT ST B |
(B) ~IrRICSH 5l RIT9 IR0 A AT 5T
CE]
(C) f wgplon =@ b |
(D) RoisL&T G W |

65. W T wE—

1, 69x67
68 68
(A) 1

®) -1

© 0

(D) 68

-69



66. How much water must be added to 8 litres
ofa90% acid solution to make a 75% acid solution?

(A) 1.5 litres

(B) 1.4 litres
(C) 1.2 litres
(D) 1.6 litres

67. Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843
(D) 1858

68. Ata certain school, there are 320 boys and

180 girls. The average absentceism rate is 6%%

for boys and 8%% for girls. What is the average
absenteeism rate overall for the school?
(A) 8%

(B) 7%%

© 7%

(D) 6%%

69. Whichriver wasthe Vijayanagarakingdom
situated on?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

CMRI/22

66. 93 8 FHIT 90% SIS AATE 75%
TG AT FI0S F© fH6 S (@19 FATe R 7

(A) 1.5 o=
(B) 1.4 Fitlw
(€) 1.2 Fo=
(D) 1.6 &=

67. (@ FE WEHET YW ©[Ce T
e e
(A) 1829
(B) 1833
(C) 1843
(D) 1858

68. <36 AR 2, 320 o 9 @R 180‘@?{
Wmlwmmﬁwmﬁ 6 2%
3R AR 8~ %191@1%9{@@?@@?@
G2

(A) 8%
(B) 7%%
(C) 7%

D) 6%%

69. REEasig ATy (I 9 Olg e e e

(A) T
(B) (SRR
(C) IIEA

(D) goreml
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70. Wind rose diagram is used to represent
which of the following?

(A) Duration of winds only

(B) Flows between central places and
dependent places

(C) Wind directions and duration
(D) Directions of winds only

71. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incorrect answer. If after 26
questions are answered, Raghu scored 0, how
many questions did he answer correctly?

(A) 13
(B) 10
©) 15
(D) 18

72. Theaverage age of a group of teachers is 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(A) 1:2
B) 2:1
(G 1:1
D) 5:1

73. For 18 days of work a man is paid ¥ 1,530.
For 30 days how much will he be paid?

(A) 2,380
(B) 2,500
(C) T2,580
(D) ¥2,550

74. Find the value of xif 5 is written in the form

B-16

70. OIS (@I S AT (G St
e IS T2 '
(A) S MOICH PRI
(B) & I W} WSRIE Fww sy
oz .
(C) I o @ TereT
(D) SYEIq TG Wit

71. 93T GRS oMW AT ol e
T G 8 T (S T W3R &S g Seraa )
S5we oI en 1M 26 b 2vra Ten $99 o7 7w
T 0T, O TOafe 2w Tew of Ao freafeme

- (A) 13
(B) 10
(C) 15
(D) 18

72. GvE PrEET AT I T 35 9 SIS
SGTERT T T =51 50 | T A (s @ wYrwd
TG T 40 W, PIess TRy 8 S UG Sls

:m -\

(A) 1:2
B) 2:1
C 1:1
(D) 5:1

73. 4% @F 18 fieTa TS &0 1530 B
AT | O 30 g & T Bt #a ¢
(A) 2,380 b=t
(B) 2,500 Bi=st
(C) 2,580 Tt
(D) 2,550 il

74, x~43 N [T TR T 5-F @U QD

2425
1+=
X

(A) 3
(B) 2
© 6
D) 8
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75. The greatest 4-digit number ‘which is a
perfect square is

(A) 9999

(B) 1000

(C) 9801 :
. (D) 9900

76. Taps A and B fill a tank in 4 hours and
6 hours respectively. Tap C of the tank empties in

12 hours. If all 3 are open how long will it take to
fill the tank?

(A) 5 hours

(B) 5.5 hours -

(© 3 hours

{D) 3.5 hours *

77. The President of the Swaraj Party was )
‘(A) Motilal Nehru
(B) M. M. Malavya
(C) Chittaranjan Das
(D) M. R. Jayakar

78. The motto “SatyamevaJayate”-Truthalone
triumphs is written in
(A) Devanagari Script
(B) Kharosthi Script
(C) Gupta Script
(D) Kalinga Script

4

79. Find the value of a car bought for¥2,50,000
if it depreciated at 20% p.a. after 3 years.

(A) ¥2,00,000
(B) ¥1,20,000
(C) ¥1,28,000
(D) ¥1,30,000

CMRI/22

75. 4 STER dqRew 3o i =
(A) 9999
(B) 1000
(C) 9801
(D) 9900

76. < GBS A8 B 9fb 76 I 495!
8 6 I 54 T | T C GRIBIHEE 12 w6t A
4| AWM fonfe 7o g Qe T 9w Fow
Gratie o g

(A) 59%i
(B) 5.5 %%
(C) 3 9%
(D) 3.59%)

7. QIS Ao Feife fRwem
(A) foaiet (e
(B) &% @ [Ty
(C) fowaes s
(D) 9%. 9. TEF

78. ﬁﬁﬁm ‘ﬁww”mw’aﬁ

R ERT L e T )

(A) o -
(B) <Al Tfetce
(C) ug Fifsi-co

(D) Fiem Bifo-ce

79. A <3l NS @ =W 2,50,000 By 92
g &ffs T57 20% ET ZI #11, OF 3 2T AR 9F
T FS AL

(A) 2,00,000 St
(B) 1,20,000 5
(C) 1,28,000 Bt
(D) 1,30,000 B
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80. What is the smallest unit of information?
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

81. Mariana Trenchis located in which ocean?
(A) South Atlantic
(B) North Atlantic
(C) West Pacific
(D) East Pacific

82. In asale, on a washing machine marked at
7,500 a 20% discount was given. The owner still
makes a 20% profit. What was the machine
originally cost him?

(A) ¥5,000
B) ¥6,800
(C) ¥5,500
(D) 6,000

83. Malpighian Tubules are found in
(A) Respiratory system
(B) Circulatory system
(C) Digestive system
(D) Excretory system

84. Which Viceroy introduced Cooperative
Society in India?
(A) Lord Curzon
(B) Lord Wavell
(C) Lord Ripon
(D) Lord Cornwallis

B-18

80. SRR FUGH TS | ?
' (A) Bit
(B) Byte
(C) Gram
. (D) Hertz

81. SR G R TRE SRES?
(A) wiE QoeTfos
(B) T&d HAGHIGS
(C) *ifew aiig
D) *H e

82. GFB GI, 7,500 Bt wiGa wHiEe ¥R
To4T 20% =C (e 2fvaet | METed ©98 20% e
st | Mifere eair @D T wie Reifeem e

(A) 5,0005= -
(B) 6,800 B
(C) 5,500 Gt
(D) 6,000 5

83. Malpighian Tubules (FIF #Ateq A2
(A) ot
(B) MRq=2 g
(C) ot
(D) @oTeE

84. (9 Viceroy Siats iy ARfS s
AR ¢

(A) TTE FlEr

(B) &8 GATSs
(C) =16 =i

(D) &6 e




85. Which nutrient is a primary contributor to
eutrophication?
(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
(C) Magnesium & Sulphur
(D) Magnesium & Potassium

2
5
total pocket money I received was

(A) 100

(B) ¥ 120

(C) T 150

- (D) T 180

~ 86. If = of my pocket money is ¥ 60, then the

87. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument?

{A) Volume of the instrument

(B) Length of the vibrating part

(C) Material from which the instrument is
made

(D) The instrument player’s skill level

88. What is the week’s wages earned by a
person who gets ¥ 3,700 per week plus 2%
commission on the sale of goods in excess of
< 1,00,000, if his sales total is T 2,40,0007

(A) ¥ 8,500
(B) T 4,800
(C) T 6,500
(D) T2,800
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85. (T Boiwia IS Al
I 2

(A) TEEITE G TAFAR
(B) RN 922 THEAM
(C) TR Qa2 RFTH
(D) sHistgeE WR #{GtaE

86, T SNIF ARG % w1t 77 60 B, W1

WY grees AmRes
(A) 100 B=Al
(B) 120 5=t
(C) 150 it
(D) 180 B

87. @30 IME T Besiifte ui =i &5 9t
ot Rdiad 9@ oW il et e

(A) TCER SRS

(B) *iftre Soai tae

(C) (@ BMN (IS TG (91F TEE
(D) THGETS (AR WHFOIF WY

88. @I e AR TgH Fo TJ, I B[
3,700 Giw! 9 o REHTE S11F «=it 1,00,0005F%
&M s e ©otg 2% shmw +=, 7l s @i
2,40,000 B #i¢r fafer srame

(A) 8,500 5!
(B) 4,800 B
(C) 6,500 Gi=wl
(D) 2,800 Bt
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89. Every morning Raj jogs to his work 8 km

. away at a constant speed of 12km/h. How much

time is saved if he cycles one morning at a speed
of 20km/h?

(A) 24 min
(B) 40 min
(C) 16 min
(D) 12 min

90. Who among the following can be removed
by the President without Parliament’s resolution?

(A) Judge of a High Court

(B) Governor of a State

(C) Chief Election Commissioner
(D) Comptroller and Auditor General

91. The Asiatic Society of Bengal (founded in
1784) owes its origin to

{A) Sir William Jones
(B) Warren Hastings

{(C©) Sir James Makintosh
(D) James Princep '

92. RTE Act was implemented in India with
effect from

(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) Lst April, 2010

93. The geological period to which major coal
deposits of the world belong is—

(A) Cretaceous
(B) Jurassic

{C) Devonian
(D) Carboniferous

89, afeie it A 8 Tfl La Fices wIAE
12 f6fal/ w51 fam ~fiors wiee (e ata | g 1
& 20 /9%t @t A= vifF (it o o
T 6L 2 : '
(A) 24 WG
(B) 40 35
(C) 16 {5
(D) 12 FifG

90. ATIE (FGEHIH 'Sl Agefe e Fite
AL FACS AT 2

(A) DIHa [pieafs

(B) T e

(C) a4 Frafbw sfirmg

(D) Fiaze a3 =iesa emitas

91. 1784 iz aFEifte EIIRT o @Ee-ag
afssrei—
(A) U1 T3l car
(B) €TE @A
(C) UIF (& IR
(D) e f2Tse!

92, ©rTS Wb Wizw FTT Fat T
(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) 1st April, 2010

93. Y7 2lui e sein golfts (@ ATt
wrgfe I =T —

(Aa) FEFEs
(B) T

©) @R
(D) PR



94. Under which Article of the Constitution of
India can an individual move the Supreme Court
directly in case of any violation of Fundamental
Rights?

(A) 13
(B) 14
(C) 32
(D) 34

95. The habitat of the Toda tribe is
(A} Aravalli Range
(B) Siwalik Range
(C) Kaimur Range
(D) Nilgiri Hills

96. District Primary Education Programme
(DPEP) was started in

(A) 1990
(B) 1994
(C) 1998
D) 1956

97. The Blue Water Policy was associated
with
(A) Vasco da Gama
(B) F de Almeida
(C) Albuquerque
(D) Alfonso de Souza

9 1
08, 4{ I-IE + IZEJ =

(A) 50
(B) 45
(C) 55
(D) 30
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i

94, SRTSI TR (I S S (N
iR T o gweE e T af‘asr
I (S AT 2

(A) 13
(B) 14
(©) 32
(D) 34

95, (Bret Teimifen wpEA ==
(A) Sl @g
B) Mafere g
€ TEEG
(D) AR -y

96. (== e<fET s (DPEP) Tie e @
(A) 1990 7=
(B) 1994 Hitat
(C) 1998 it
(D) 1956 s

97. 9 W Aifeq A T& =
(A) SICE % sl
(B) 9% f& SEge!
(C) WEgHE
(D) SeTwwE & @

9 1]
98, 4[ 1-1-6-+12§]—
(A) 50
(B) 45
(C) 55
(D) 30
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99, A man and his son set out for a walk. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(C) 100
™) 120

100. Ramesh is 16 years older than Suresh.
20 years later Ramesh’s age will be four times the
present age of Suresh. The present dge of Ramesh
is

(A) 12 years
(B) 28 years
(C) 36 years
(D) 32 years

B-22

99, GG (@A YT OIF (A L0608 QAT | &R
S 4+t ©IF fSera oiw ditis yR-pommet | 7 fret
120 T 41t (7, O (AT Foul ot (w3 e
' (A) 60
(B) 80
(C) 100
(D) 120

-

100. JTP LR (AT 16 IR 0L, 20 92 24
T T LA O T 4 1 R | T

(A) 123
(B) 28 9=8
(C) 36 7=
(D) 32 =3
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SN oo B Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page; containing 100 questions. Verify the 1
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice .SI
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong-answer.

7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Which Indian state iecemly announced a
Universal Health Care Program providing free
medical treatment to all residents?

(A) Maharashtra
(B) Uttar Pradesh
(C) Kerala

(D) Tamil Nadu .

2. The area of a square park is equal to that of
a rectangular field of length 96 m and breadth
54 m. The length of the side of the square is

(AY 72m
(B) 94m
(C) 68m
(D) 80m

3. Find the value of

1, 69%67
68 68
A 1

(B) -1

() 0

(D) 68

69

4. The value of a new car is ¥ 4,00,000. If in
the first yearits value is decreased by 10%, find the
value of the car in the beginning of the second
year?

(A) ¥3,96,000
(B) ¥3,00,000
(C) ¥3,60,000
(D) ¥3,20,000

5. Malpighian Tubules are found in _
(A) Respiratory system
(B) Circulatory system
(C) Digestive system
(D) Excretory system

C-2

1. SiATed (@ A TA® GTs Teferfia

CEEe (IS (RSN (Tt FI0E, T NS WPt

Fmtyen BT e w2
(A) TR
(B) Togsm
(C)
(D) ifiETIg ",

2. ﬂﬁaﬁaﬁﬁmm@amﬁ%m@a
S TT O 96 bR Ok &7 54 FbE o CRamEd
ol | gfetx #iEla agi, A il =

(A) 72
(B) 94 %% e
(C) 681
(D) 80f%

3. WA T we—
i+69x67__
68 68
(A) 1
(B) -1
€) 0
(D) 68

69

4. 9% TgH m@?wmoo,dooﬁaﬂmﬁﬁw
Tgra A% T 10% I W, OF Tom IE
e ST o7 TO I ?

(A) 3,96,000 Gis
(B) 3,00,000 Bt
(C) 3,60,000 Bt
(D) 3,20,000 it

5. Malpighian Tubules (AT “NST ¢
(A) wFretd
(B) 1RI2TOLE
(C) ooty
(D) (TovorE

Ca
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11. The ratio of girls to boys who voted in the
electionis2 : 3.1f 10more girlsand 5 more boys were
voted, thentheratiowouldhave been3 : 4. Hencethe
total number of students voted altogether is

(A) 325
(B) 235
(©) 125
(D) 532

12. The motto “SatyamevaJayate”-Truthalone
triumphs is written in
(A) Devanagari Script
(B) Kharosthi Script
(C) Gupta Script
(D) Kalinga Script

13. Viticulture is related to the cultivation of
(A) Apple
(B) Orange
(C) Grape
(D) Wheat

14. Fourwomen, A, B, CandDinvested money
in the ratio 1:4:7: 8 in their business. Their
profits were distributed according to their
investment. If after one year C’s share of the profit
was T 35,000, then the B’s share of the profit was

(A) ¥5,000

(B) < 20,000
(C) 25,000
(D) ¥ 30,000

15. The average age of a group of teachersis 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(A) 1:2
B) 2:1
© 1:1
D) 5:1

11. (& 99 (=0 Wi o (o o
SEAS T 2: 31 W 10 W G @3] 5 T (=0
e (Sip e O Selte T8 3: 41 ©F (6
coionTe! QAR T

(A) 325
(B) 235
(C) 125
(D) 532

12. Afew “TOGR TEe” TR w9 GIR
rera e ez v
(A) o=t Ffet-co
(B) @ Ff-co
(C) g i
(D) e oo

13. Viticulture (3 51cTR A e b 25—
(A) Qs
(B) TR
(C) e
(D) ™

14. A, B, C 4R D, 514 &= wfZew 1:4:7: 8
HaATS Bt fRfATst T o @I! IS |
G ST AR Ol T R O B R
Tetics | T GF TE A9 C-aF Ficed AT
35,000 B, O B~99 Fek #ifawid 29

(A) 5,000 B

(B) 20,000 B
(C) 25,000 B}
(D) 30,000 B

15. 939@ e e T T8 35 R G
SRR 1% IHH 24 50 | 3R e Wws 8 WYrE
4G IT 40 2, Frw Ayl 8 WGF MY TS
T

(A) 1:2
B) 2:1
© 1:1
(D) 5:1

.




, 9 1
. 2 =2
16. 4{ 116+122] ]

(A) 50
(B) 45
(C) 55 .
(D) 30

17. A tap drips water.at a constant rate of
0.03 ml per second. How many litres is that per

day?

18.

(A) 2592 I
(B) 0.2592

(C) 0.1080 e
(D) 2.592 Voo

Who was the founder of Pala Dynasty?
(A) Gopalal

~ (B) Govindapala

19.

(C) Shurapala
(D) Divapala

Rakesh sold his bike at a loss 6£ 20%. If he

sold it for ¥ 5,400 more, he would have sold itata
10% profit. How much did he pay for the bike?

20.

(A) T 18,000
@B) 10,000
(C) 20,000
(D) ¥ 22,000

Tirthankara means—

(A) Three knowledgeable people
(B) The third World

(C) Ford Maker

(D) A liberated human being

C-5 : CMRI/22

/9 1
— -—°=?
16. 4( 116+122J )

(A) 50

(B) 45
(©) 55
(D) 30

17. ¢ 95 (9 %9 I 0.03 FAGDE we
A @S ATe 1 o7 Afeha T Bt «irs?
(A) 2592
(B) 0.2592
(C) 0.1080
(D) 2.592

18. ife AR aifSdret (< farewi 2
(A) Csfiefiet >o ’
(B) (oot
(C) “paeite
D) =it

19. Ao CITIARADE 20% Frote R
Falee | 7 fof =ige 5,400 Bt @R fRves v
o/ 10% == Fars fare | o ¥ brew o
T Bl A T ol e D

(A) 18,000 5t
" (B) 10,000 B
- (C) 20,000 5=
(D) 22,000 GBIl

20. O1FET WHA—
(A) Torem sl I

(B) oo fy
(C) 1S it

" (D) GFE A A
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21. What is the medical term for a low platelet
count in blood?

(A) Thrombocytosis
(B) Thrombocytopenia
(C) Haemophilia

" (D) Leukocytosis_

22, Which Viceroy introduced Cooperative
Society in India?

(A) Lord Curzon
(B) Lord Wavell
(C) Lord Ripon

(D) Lord Cornwallis

23. Which Vitamin is known as Riboflavin?
(A) Vitamin B,
(B) Vitamin D
(C) Vitamin C
(D) Vitamin A

24. The 1st Woman President (1917) of Indian
National Congress Party was

(A) Annie Besant

(B) Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Alf

25. ‘Ignited Minds’ is authored by
(A) Vandana Shiva
(B) Chetan Bhagat
(C) Arundhati Roy
(D) A.P:.]. Abdul Kalam -

C-6

21, WF TN (2BeEs MUE BiFemic & T
70

(A) LCIFARGIEA
(B) erFrmegsicetfim
(C) crfeierat

(D) TSGR

22. @9 Viceroy ©lTs A AME 1]
FRREN ? :

(A) w76 et

(B) =16 @ATSH
(C) =76 e

(D) =T e

23. @i fobifm fratwiEm im sRboe,
(A) fo5ifiE B,
(B) feGifim D
(C) fetfm C
(D) TSBIfm A

24, SIRSAESH A Ab e aRATore
(1917) fees

(A) =gl @I

(B) A&t A2
(C) ¢Tiwt Fmeg
(D) S ST e

25. ‘Ignited Minds’ ¥i9 7191 e 2
(A) Tt Pt
(B) (5 ©51®
(C) SFFe! A

(D) «. 3. (5. ST e




26. Epigraphy is—
(A) The study of inscriptions
(B) Graphical Map
(C) The detection of epics
(D) The study of epics

27. Which phenomenon is responsible for the
formation of a rainbow when sunlight interacts in
the water droplets in the atmosphere?

(A) Diffraction
(B) Refraction and reflection
(C) Dispersion
(D) Interference

28. The geological period to which major coal
deposits of the world belong is—

(A} Cretaceous
(B) Jurassic

(C) Devonian
(D) Carboniferous

29. Who is regarded as the Father of Algebra?
(A) Al Khwarijmi
(B) Aryabhatta
(C) Ramanujan
(D) Pythagoras

30. Every morning Raj jogs to his work 8 km
away at a constant speed of 12km/h. How much

time is saved if he cycles one morning at a speed
of 20km/h?

(A) 24 min
(B) 40 min
(C) 16 min
(D) 12 min

C-7 ' CMRI/22

26. Epigraphy T&—
(A) Pt orgmm
(B) aifFlet WAlbe
(C) T *HreFa
(D) RIS S

27. A AN ST e R
T e (ofFE T v G Toat e
(A) fReda
(B) efowasi @ aferem
(C) fvggd
(D) wieeE

28, RTeR =417 T7=1 T SOl (3 R

- wgefe i T—

(A) &R
(B) TR

(C) cerei=agi
(D) TR

29. FIF Nereificed wwe =1 25 2
(A) =F DrenfaEiy
(B) w{eq
(C) SIger
(D) A=

30. ifofun wFeitet s 8 MR e eiter wtasi
12 5051/ 9951 39 #1i%re w1t (Mee 119 | g 7l
o 20 RRl/a%t @t i v e o 77
T B 2

(A) 24 D
(B) 40 fif+G
(C) 16 TG
(D) 12 6
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31. By selling acomputer for¥ 36,000, adealer
makes a 20% profit on the cost price. At what price
should the computer be sold to make a 25% profit?

(A) T37,500
(B) ¥ 38,000
(C) T 38,500
(D) 39,000

32. Three year 8 classes had the same maths
test, One class of 25 students had an average of
80%, the other class of 22 students had an average
of 75%, while the third class of 13 students had an
average of 61%. Then the average marks of all the
students in the three classes is

(A) 74%

(B) 74-05%
(©) 123-42%
D) 123%

33. Findthe value of x i:f 5 is written in the form

2+-4—2
1+2
X

(A) 3
®) 2
C) 6
(D) 8

—1- , then the

34. 20% of a number is equal to 30

original number is

@A) 2

(B)

©
@)

6
1
5
L
2
1

31. <3 AfPToE 36,000 B e R w0
e fEaT FAAEDR 20% e | 25% e
0o ITHAH e wity e we TR

(A) 37,500 51
(B) 38,000 BT
(C) 38,500 5
(D) 39,000 5=

32. & M 8-a ¥33 sifares «irw TRl |
G 25 TAT FIETR 1% T &1 80%, =5 «@=:fb 22
T FIFTA 51T T 85 75% 932 13 T OIF IR0
FICTR G T 251 61% | ST2gA FEA b It 7 =ReE
GLEECEY]

(A) 74%

(B) 74:05%
(C) 123-42%
(D) 123%

33. x~9 Wi [T TR WS- AT

2+‘—42' .
1+=
X

(A) 3
®) 2
©) 6
D) 8

34. 43 ST 20% % T, O R T3
(A)
B)

(©)

= = = v -

C




35. What is the week’s wages earned by a
person who gets T 3,700 per week plus 2%
commission on the sale of goods in excess of
¥ 1,00,000, if his sales total is ¥ 2,40,0007

(A) T 8,500
(B) T4,800
(©) T 6,500
(D) ¥2,800

36. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incorrect answer. If after 26
questions are answered, Raghu scored 0, how
many questions did he answer correctly?

(A) 13
(B) 10
(C) 15
(D) 18

L
v

\

37. In a federal system power is—
(A) Shared
(B) Amonopoly =~ MF
(C) Non-existent
(D) Held by a group of d1ctators

38. Under which Article of the Constitution of
India can an individual move the Supreme Court
directly in case of any violation of Fundamental
Rights?

(A) 13
(B) 14
(C) 32
(D) 34

39. A man and his son set out for a waik. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(C) 100
(D) 120

CMRI/22

35, e e TR TGH T 23, 1 BF
3,700 i1 = &S IR AN @=rol 1,00,000 5%
@ oty Rifera Boig 29 whmim i, 77 ol cafs
2,40,000 CIzsl% teyy ffer weam 2

(A) 8,500 B
(B) 4,800 Gi!
(C) 6,500 i
(D) 2,800 Giw

36. I iffe Azw AFrER Afel A
T & § AR (RO T R 2ifef ot Seczm e
5 W99 SO g (TW 26 T Areiw Tew 919 A9 79
T 0T, W3 Foulel answ Tex (77 1 facafest 2

(A) 13
(B) 10
€ 15
(D) 18

37. TEHIEN LA T ATHE—
(A) s T
(B) TR
(C) SEeq
(D) e CRAIAEE Q0T

38. S TR (I S SR (IS
gl T v aem B TR e
@I @S A2

(A) 13
(B) 14
(©€) 32
(D) 34

39. (b =TI 93 OIF (T 2600 (I9 2F | @ER
TG 417 I oot 9T «itvig w2-wome | 7 Bral
120 6 4ot (717, ©1 (=r=1s FwRfe @et (g e

(A) 60
(B) 80
(C) 100
(D) 120
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_40. Which nutrient is a primary contributor to
eutrophication?

(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
(C) Magnesium & Sulphur

(D) Magnesium & Potassium

41. For 18 days of work a man is paid ¥ 1,530.
For 30 days how much will he be paid?

(A) 2,380
(B) ¥2,500
(C) T2,580
(D) T2,550

42, A petrol purnp can hold enough petrol to

supply 80 cars with 35 litres each. Hence the -

number of cars it can supply with 50 litres petrol
are

(A) 50
(B) 56
(€) 60
(D) 66

43. RTE Act was implemented in India with
effect from

(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) IstApril, 2010

44. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tablet at 11 AM
at what time Riya take her 8th tablet?

(A) 5 AM
(B) 8 AM
©) 11 AM
(D) 2 AM

C-10

40, (T CHAWE TG A
SIS 2
(A) ARG GR THFAH
(B) TSN Qg TR
(C) RN Q3. ATTE
(D) ST @3 iR

41. <% @ 18 Mg Fiees & 1530 Gt
Al 1 S1 30 7 &0 o Bil #AIA 2
(A) 2,380 %
(B) 2,500 Bt
(C) 2,580 B
D) 2,550 B

42. 3B CRHE AT+t 800 i 35 P o
CAUIE A FAR G RGN CNER SR
O, G Al Toef 4w 50 For @
(AT T #iad, OiF A7 2

(A) .50, -
(B) 56 ;
(C) 60
(D) 66

43. ©lare TEie oz Fed F9 wafkE
(A) 1st April, 2009
(B) 1st May, 2010
(C) 1st April, 2008
(D) 1st April, 2010

44. wieag B Fott el 9 w1%! o
&gy e | 2 (1 49w G379 11518 R e
S(E 8- 3TYG FO (WL

(A) I 501
(B) < 8 T
(C) e 11517
(D) FfF 2 G




45. Who propounded the motto “Goback to the
Vedas™?

(A) Swami Dayanand Saraswati
(B) Bal Gangadhar Tilak
(C) Vishnu Shastri Bapat
(D) Narendra Nath Dutta

46. A car is travelling at a speed of 70 km/h.
What would be the distance travelled by the car in
24 minutes?

(A) 28 km
(B) 35km
(C) 30km
(D) 25km

47. What is the primary functlon of the human
kidneys?

(A) Digestion
(B) Filtration of blood and'Waste excretion
(C) Oxygen transport 3~

(D) Regulation of body temperature

LY

48. How much water must be added to 8 litres
of a90% acid solution to make a 75% acid solution?

(A) 1.5 litres
(B) 1.4 litres
(C) 1.2litres
(D) 1.6litres

49. The Raurkela Steel Plant was built on the
banks of the

(A) Kharkai River

(B) Brahmani River
(C) Damodar River
(D) Shipra River
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45, @ “@m s’ qrenfs Sxie srafkeEm ¢
(A) TR 7w FIFS!
(B) e oFaT oo
(C) R *I1& A5
(D) FHAIY 7

46. a3 «ifeq oferas =1 70 ffy/a%y,
24 T, el w0 Ay wfoww w=ra?
(A) 28
®) 35 R
(C) 30 @
(D) 25 =

47. W fefag el oiw Je
(A) T RS
(B) 7@ ARWR gt Tef fefw
(C) wiEwe wiffwzst
(D) =<K STl e

48. «3f6 8 FOIE 90% =mBiC ARt 75%
PTG AfeTex Fare @ TR &= el T A 2

(A) 1.5 @@
(B) 1.4 &%=
(©) 1.2 6=
(D) 1.6 FoE

49, mﬁamwmﬁa%?
(A) AR =
(B) IFN Al
(C) Wit =4t
(D) et <@t
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50. In asale, on a washing machine marked at
¥7,500 a 20% discount was given. The owner still
makes a 20% profit. What was the machine
originally cost him?

(A) 5,000
B) ¥6,800
(C) T5,500
(D) 6,000

51, The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882

(D) 1984

52. The government established the University
Grants Commission by an Act of Parliament in the
year

(A) 1980
(B) 1948
(©) 1950
(D) 1956

53. The greatest 4-digit number which is a
perfect square is

(A) 9999
(B) 1000
(C) 9801
(D) 9900

54. 55% of the population of a city are male,
. 25% of the male population and 20% of the female
population are under 21 years of age. If the
population of the city is 10,000, find the ratio
between the total population of males and females
who are under 21.

(A) 55:36

B) 11:9

(© 5:1

D) 5:4
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50, <35 G, 7,500 B 7 eTR IR
B9 20% =T (e ZfoeF | MFEE 938 20% S
QeTeE | Wi eafik Gt T ity Rwfece 2

'(A) 5,000 51
(B) 6,800 T
(C) 5,500 GBIt
(D) 6,000 Bt

51. SITeN WY S Ao T o e ?
(A) 1897 it
A(B) 1899 G
(C) 1882 N
(D) 1984

52. AP (1A TN APTAT GF0 2L VG
e Ty w2 F@ e
(A) 1980
(B) 1948
(C) 1950
(D) 1956

53. 4 oEs FqzEw 3o A =
(A) 9999 '
(B) 1000
(C) 9801
(D) 9900

54, *ZEF GG TR 55% T 4F, 4T
LY 25% @R WAl TN 20% T 21 IR
A | 7 wa=a b Gt 10,000 58 1 21
T N <% @ NReA! TR Teirs Fefy S

(A) 55136
(B) 11:9
(C) 5:1
(D) 5:4




55. At a certain school, there are 320 boys and'

180 girls. The average absenteeism rate is 63%

for boys and 8%

absenteeism rate overall for the school?
(A) 8%

% for girls. What is the average

1
®) 75%
(C) 7%

(D) 6%%

56. The Asiatic Society of Bengal (founded in
1784) owes its origin to

(A) Sir William Jones
(B) Warren Hastings
(C) Sir James Makintosh
(D) James Princep

57. Non-conformity to social norms is called
(A) Social change
(B) Deviance
{(C) Social conflict
« (D) Struggle

58. The Blue Water Policy was associated
with
{A) Vasco da Gama
(B) Fde Almeida
(C) Albuquerque
(D) Alfonso de Souza

C-13
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55. 3T FfWS F0F, 320 oW 9 <3 180‘\517{
WWIW%W%W%G %
Lﬂ'q\?ﬂ%wrms %rmw%w&féﬁﬂa

U

(A) 8%

B) 7%%
(©) 7%

@) 6%%

56. 1784 e «fmite ERE = @E-a7
Afedrel— :

(A) >tz B3 e

(B) SUEA &P

(C) 17 (o Spif=cerT

(D) et T2t

57. e ffenfen M FwoYToE I
TH—
(A) FATES sAféa
®) fpfe
(C) AT =g
(D) &

58, e o eF AN T T
(A) SicHi 7 Sty
(B) @ T AwGze!
(C) wAeTgPiF
(D) SiETEFaE 1 e
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59. Petroglyphs means
(A) the chipping of rocks to make tools.
(B) the treatment of rocks with petrol.

(C) some substance of a rock surface is-

removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with
petrol before painting on them.

60. India recent}y hosted: the 13th BRICS
Summit in which city?
{A) New Delhi
{B) Mumbai
{C) Bengaluru
{D) Goa

61. A container when half full holds 3.6 litres.

How much more fluid is needed to make it % full?
(A) 7.2 litres
(B) 4.8 litres
(C) 1.2 litres
D) 2 litres

62. Aand B startfrom the same place and travel
in the same direction, B starting 2 hours after A. If
A travels 40 kmv/h and B travels at 50 km/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500 km
(D) 100 km

63. District Primary Education Programme
(DPEP) was started in

(A) 1990
(B) 1994
(C) 1998
(D) 1956
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59. Petroglyphs St
(A) e sk =0 gfeam o |
(B) *IEE e 1w el |
(C) Re-orde By Amdcamiz, @ @
R egeet -

(D) (=f2f5e-a7 Iftet R ojFres (G
AR 21

60. ©Fe 7S @ *%td 1399 BRICS W@
A FCARE ? '
(A) e W
(B) YR
(©) e
(D) coimmt

61. T vile T ST ©fS =7, O3 3.6 vl
aisel e | e 3 W S I W e T
&ibla oo= AwEm 7 :

(A) 7.2 0=
(B) 4.8 Fotm
(C) 1.2 o=
(D) 2 el

62. A 9B IR TN (AT R G e Tl
oF FF 8 B TG uF T A-9F 9@ ©F W
29! #1917 A~ oifSTa1 40 f6f/ 91 942 B9
sifer=t 50 /%1 27, o< 3 7Y 7t B, AT
wiw TR ?

(A) 400 el
(B) 200
(C) 500 5
(D) 100 M

63. (Sl Ziefii Frwt (DPEP) ey & o0
(A) 1990 FGT
(B) 1994 A
(C) 1998 AT
(D) 1956 AT




64. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down
a mountain.

(C) the ring shaped coral reef.
(D) a group of islands.

65. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument?

(A) Volume of the instrument
(B) Length of the vibrating part

(C) Material from which the instrument is
made

(D) The instrument player’s skill level

66. The Parliament of India consists of
(A) Lok Sabha
(B) Lok Sabha and Rajya Sabha
(C) President and the two Houses
(D) Prime Minister and the two Houses

67. Brahmaputrarisesin Tibet whereitisknown
as

(A) Tsangpo
(B) Megna

(C) Rakasthal
(D) Yamuna

68. Rahul can dig the garden in 30 minutes,
while his fathertakes 20 minutes, How long should
they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min
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64. Qtele ZET
(A) FHS WA HH |

(B) ~lIRiCed sl 99197 904 A= g s
©q |

(©) MR wigfer dam abiF)
(D) Fetzfrerm <3 e |

65. = AT TR el @l m Bi5 A
rricaf e wtg o 2iafile wige e
(A) T SIS
(B) ™if¥re wgp<is 0
(C) @ BAMIT (AT 77 0ol 2R
(D) THEETS (AT wEeR @

66. SIS ACW NS TRTE—
(A) Gl
(B) EITS! 8 Areoret
(C) TS xR e
(D) A4TIE) @32 §Z e

67. I CerlfegE foRS, eriE Gt @
i «fdfpe— ‘
(A) ATt
(B) (sl
(C) WFPTeE
(D) T

68. A G0 9t Jors 30 fifFG A% e
©I 919t 20 6 TR #iget | Sig e e
TG Y A5 ?

(A) 10 fifs5
(B) 12 fif%
©) 15 "G
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69. Inasaleallitems price are reduced by 25%. 69. < GE 71 &G Wty 25% =G oredl
If a customer paid ¥ 6,750 for a sound system, 2foea | ge AR 6,750 G 3 e FEsT

;l;zxt)e I\;‘};at was the regular price of the sound T, O Gioa oI wi s f e

(A) T 27,000 () 27,000 b
B) 20,250 (B) 2025051
(C) 9,000 (C) 9,000 T
(D) ¥ 5,400 (D) 5,400 Gl
70. If %- of my pocket money is ¥ 60, then the 70. W SN LrOLTHH % w8 7 60 B, Ol
total pocket money I received was wifS greYgs (ArEfEm
(A) T 100 ' (A) 1005t
(B) 120 (B) 120 5
G © 0w
(D) 180 5=t

71. If 3 cans of dog food will feed 2 dogs for 71, i 37 AT IR I (T TFAT

1day, thenhow manydogscanbefedfrom42cans | | fim «vegicl T, S 426 &G W
for 4 days?

4 far ool IFac PeTH A2
(A) 6 (A) 6
®) 5 B) 5
7 ) 7
(D) 8 (D) 8
72. The sum of two numbers is 8 and their 72. 96 FeGE AT 8 @ BITA 161 ©F
product is 16. Then the value of the sum of the SR 27% AT CNFETT T A
reciprocals is (A) 2
a) 2 X
1 ® 2
®
1
1 D) 4

(D) 4




73. The leaf size of vegetation'is a function
of—
(A) Temperature
(B) Moisture Availability
(C) Altitude
(D) Temperature & Moisture both

74. A square PQRS is drawn on a paper and it
was folded in half to form a rectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15¢cm
(B) 60cm
(C) 50cm
(D) 40 cm

75. Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843
(D) 1858

76. Fundamental Rights contained in Part III of
the Constitution of India is in

(A) Articles 12 to 35
(B) Articles 12 to 32
(C) Articles 36t0 51
(D) Article 51A

77. An 12 metre flag pole casts a shadow

15 metre long, If a flag pole is 20 metre long then
the length of the shadow be

(A) 25 metre
(B) 60 metre
(C) 30 metre
(D) 22 metre
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73. ARSHAEIR SO wiwE el gm—
(A) Sl
(B) wHSl Aot
(C) T
(D) Sieiar ¥ Siver ey

74. 5w @I PQRS (0w Wi =o @3
b SEE Sl TE G 30 G ARERRS
SESE (off 4! %1 | O PQRS-9 % =

(A) 15 i
(B) 60
(C) 50
(D) 40 &

75. (PN A WLAT WG SIS wALA
e =
(A) 1829
(B) 1833
(C) 1843
(D) 1858

76. SRS HRYIAT W9 -7 (@A Gk
SfEeiad R arwe—

(A) I 12 (A0 35
(B) SRR 12 (U0 32
(C) SFHH 36 (4G 51
(D) =T S1A

77. 46 12 fBRE =Tt sforeeafs 15 b
2 o IR | 2 @3 srereme 20 R ww =

| O OfF i 07 79

(A) 25 oI
(B) 60 fo=
(©) 30 fow

(D) 22 FoE
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78. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

(C) 1st June, 2000

(D) 1st October, 2000

79. What is the smallest unit of information?
(A) Bit
(B} Byte
(C) Gram
(D) Hertz

80. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥ 240 as interest at the end of loan period. Thus
the time period he has taken to return the loan is

(A) 4 years
(B) 16 years
(C) 8 years
(D) 2 years

81. The best way of prZ)viding value education
is through
(A) discussions on.scriptural texts.
(B) lectures/discourses on values.
(C) seminars/ symposia on values.

(D) mentoring/ reflective sessions on
values.

82. What is the chemical symbol for Silver?
(A) Au
(B) Ag
(C) Cu
(D) Mg

C-18

78. S AYE WA, 2000 PRI 2EE—
(A) 17th October, 2000
(B) 9th June, 2000
(C) 1st June, 2000
(D) 1st October, 2000

79, SR TS 9FF 7
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

80. Rz 1,500 Bia w5t g 47 oA 19
T O 03 S o0 219 feet, 240 Breet o e
(31 41 G <, T OIF 417 G a1l SToarepleio 21

(A) 47=9
(B) 16 9%d
(C) 83=7
(D) 294

81. SEIARLR P 2RIeR sicafe Bsii/ g
T

(A) =R #i15 e St

(B) ORI T Igo! &Rl |
(C) TANL Toa il At Fiesiifer

, (D) SETANEE Boia (TBfRR A AR T
Afowike EriF1

82. FHIM IS ASiF e
(A) Au
(B) Ag
(C) Cu
(D) Mg




83. Ramesh is 16 years older than Suresh.
20 years later Ramesh’s age will be four times the
present age of Suresh. The present age of Ramesh
is

(A) 12 years
(B) 28 years
{C) 36 years
(D) 32 years

84. Taps A and B fill a tank in 4 hours and
‘6 hours respectively. Tap C of the tank empties in
12 hours. If all 3 are open, how long will it take to
fill the tank?

.(A) 5 hours
(B} 5.5 hours
(C) 3 hours
(D) 3.5 hours

. 85. A womanreduced her weight from 95kgto

76 kg. Then the decrease per cent is
(A) 18%
(B) 9%
(©) 20%
(D) 10%

86. The habitat of the Toda tribe is
(A) Aravalli Range
(B) Siwalik Range
(C) Kaimur Range
(D) Nilgiri Hills

87. Ravi has an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 95?

(A) 96
®) 99
(C) 98
(D) 95
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83. FCIIICATHR (/TS 16 I 0@, 20 I A9
AT T SCATNR TSN AT 4 S R 1T
(A) 12724
(B) 28 =4
(C) 36 =
(D) 323

84. @3 (GIAMBIE A '8 B- %5 +o1 IYHC 4 951
8 6 IO o4 0 | T8 C Gramwile 12 95%w A
3| M &7 76 G Qe @ o[ T
R T CE: '

(A) 53%

(B) 5.59%%!
(C) 39%t -
(D) 3.59%]

85, T W O SEw 95 (e (3T I
76@%W|Wﬂm@mm@

(A) 18% .

B) 9% - ..

(C) 20%

(D) 10%

86. (ret Tereifen SimTER =
(A) SERE @9 '
(B) M= @g
(©) &I @Y
(D) e e

87. AR 6 % AW oIC T T 93 | A
AR T T T (A O 9T 777 95 T2
(A) 96
(B) 99
(C) 98
(D) 95
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88. It costs of a family of two adults and three
children ¥ 2,800 to go to a show. If a child’s ticket

cost é- of the price of an adult’s ticket, then the

cost of an adult’s ticket is
(A) T 600
(B) T 800
(C) 500
(D) T700

89. Twotrainsare travelling towards each other
on adjacent tracks. The first train is 86 m long and
is moving at 120 kmv/h. The second train is 64m
long and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) 5 Sec
(B) 2 Sec
(C) 8 Sec
(D) 10 Sec

90. Mariana Trench is located in which ocean?
(A) South Atlantic
(B) North Atlantic
(C) West Pacific
(D) East Pacific

91. The President of the Swaraj Party was
(A) Motilal Nehru
(B) M. M. Malavya
(C) Chittaranjan Das
(D) M. R. Jayakar '

92. The Buland Darwaza was built by Akbar to
commemorate his victory of

(A) Gujarat

(B) Khandesh
(C) Ahmednagar
(D) Berar
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88. 7Ew eTTs W<k fowem g vl et
OralR T 2,800 B 46! =1 W G2 Prew
BRGT T @3l NAITF s BRGT 09
S T, O G AGINT (DA B0 0TI
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(A) 5 GTES
(B) 2 CT®
(C) 8 GTT
(D) 10 GTS

90. W G I YA SRFS?
(A) wfed e
(B) T&F HipeTfoP
(C) ~iffox e=ig
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91. A= iiiox Feivifs ™
(A) WfeeTa (e
(B) <. @3, T
(C) Foeagm v
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93, If the combined daily wage of 5 men is
¥ 3,750, how much will 20 men earn in a week?

(A) T2,05,000
(B) ¥1,25,000
(C) 1,05,000
(D) 1,50,000

94, If x’ = 3 then the value of x* — 25 is
(A) =13 :
(B) 30
(C) 56
(D) ~15

95, Write the next term of the series.
5,11, 19, 29,
(A) 39
(B) 41
(C) 40
(D) 42

96. Wind rose diagram is used to represent
which of the following?

(A) Duration of winds only

(B) Flows between central places and
dependent places

(C) Wind directions and duration
(D) Directions of winds only

97. Sum of the all factors of 24 is
(A) 12
(B) 36
(C) 48
(D) 60
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93. M 5 T AT @ a4 Mg T =@
3,750T1%1, 20 T (FIT T AL S (G T ?
(A) 2,05,000 5=t
(B) 1,25,000 Bt
(C) 1,05,000 5=
(D) 1,50,000 Srst

94, X' =3 W, O £V - 25 aF N I
(A) -13
(B) 30
(C) 56
(D) -15

95. iR sl 7l et |
5,11, 19, 29,
(A) 39
(B) 41
(C) 40
(D) 42

96. OIS (@IT TR NGA @AD SHAAET
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(A) GG IO ANTDIE
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(D) ST Ao Tl
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98. Find thé value of acarbought for¥ 2,50,000
if it depreciated at 20% p.a. after 3 years.

(A) Z2,00,000
(B) ¥1,20,000
(C) T1,28,000
(D) ¥1,30,000

99. Whichriver was the Vijayanagarakingdom
situated on?

(A) Kirishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

100. The Harappa Age is also called the
(A) Stone Age
(B) Iron Age
(C) Ice Age
(D) Bronze Age

98, % «= 1% @ = 2,50,000 HIHR G
< & = 20% =T ZT 1, ©7F 3 T=I A 9F
T FE HI?

(A) 2,00,000 Sl
(B) 1,20,000 B
(C) 1,28,000 Bt
(D) 1,30,000 Bt

99, REEmeid AT (PR A St TRES e
(A) %
(B) CAmZS
(C) IR
(D) wreat

100, TR S _____ gole T |
(A) =4
(B) 1T
(C) F4T
(D) &g
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. Answers will have to be given in the OMR Sheet supplied for the purpose.
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result in error in your marks.

All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
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One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
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The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
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1. Find the value of xif 5 is writtenin the form

4
2+——
1+2 .

P _ :
(A) 3 :
(B) 2 3
© 6 a
(D) 8

2. The Parliament of India consists of
(A) Lok Sabha '
(B) Lok Sabha and Rajya Sabha
(C) President and the two Houses,
D) ane Minister and the two Houses

ot

3. Godaan was written by -
(A) Rabindranath Tagore
(B) Munshi Premchand
(C) Sahajanand

(D) Aurobindo Ghosh
4. At a certain school, there are 320 boys and
180 girls. The average absenteeism rate is 6%%

for boys and 81% for girls. What is the average

3
absenteeism rate overall for the school?
(A) 8% ' L

1
®) 75%
(©) 1%

(D) 6—;-% :

5. Taps A and B fill a tank in-4 hours and

6 hours respectively. Tap C of the tank empties in

12 hours. If all 3 are open, how long will it take to
fill the tank?

(A) 5 hours
(B) 5.5 hours
(C) 3 hours
(D) 3.5 hours

D-2.
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- (© WA aRBIA
l (D) e4ia @R 13 JSH
3. ‘(o Tt
(A) I HIFF
(B) T3 cob

(C)- F=&naT - <
D) wﬁﬁ AL

4, 3l WS B, 320 O IFTE 9K 130@1—4
aﬁmmlwwwﬂﬁmmﬁs —%

@32, IFRATE 8 % I@W%Wﬁﬁr@ﬂ?
FO?

(A) 8%

1
B) 75%
(©) 7%

(D) {»%%

L5, @B (ST A e B gfb e TR 4 96!
@ 6 B %1 T | 71 C GBI 12 9Br A,
a1 T Toald 7o AR AT T o FOE
ramsi s =3¢
(A) 5%
(B) 5.59%
(C) 3 9%
(D) 3.5 T
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6. In a sale, on a washing machine marked at
37,500 a 20% discount was given. The owner still
makes a 20% profit. What was the machine
originally cost him?

(A) T5,000
(B) 6,800
(€) ¥5,500
(D) 6,000

7. For 18 days of work a man is paid ¥ 1,530,
For 30 days how much will he be paid?

(A) T2,380 Coe
B) ¥ 2,500
(C) 2,580
(D) T2,550

8. The compound interest for ¥ 4,800 for
2 years at 5% per annum compounded annually is

(A) T492
(B) ¥ 5,292
(C) ¥229
(D) T 5,390

9. An 12 metre flag pole casts a shadow
15 metre long. If a flag pole is 20 metre long then
the length of the shadow be

(A) 25 metre
(B) 60 metre
(C) 30 metre
(D) 22 metre

10. Which Viceroy introduced Cooperative
Saociety in India?
(A) Lord Curzon
(B) Lord Wavell
(©) Lord Ripon
(D) Lord Cornwallis

CMRI/22

6. 3B G, 7,500 Bit v <Pz i
Tofg 20% BT (raTl 2foee | METTa B398 20% e
5l | A TR @Rt T wim BteE e

(A) 5,000 Bt
(B) 6,800 Gt
(C) 5,500 B
(D) 6,000 Bizl

7. 90 @F 18 Mg Img & 1530 B
A | SF 30 M 7 9 Bt A ?

(&) 2,380 D=l
(B) 2,500 B!
(C) 2,580 Bi=t
(D) 2,550 il

8. RS 5% FF 4,800 Biwla 2 T2 bFqa o
E36
(A) 492 B
(B) 5,292 i
(C) 229 Bta
(D) 5,390 Gt

9. gt 12 ot st sfeimef 15 o o=
21 ¢t I | 7 < siereme 20 W == =1
(A) 25 foH
B) 60 G
(€ 30fwE
(D) 225

10. (I Viceroy ©RT® I AR® B
SRR ?
(A) TG preie
(B) T8 @ies
(C) &6 7o
(D) 6 TSR
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11. The Raurkela Steel Plant was built on the
banks of the

(A) Kharkai River
(B) Brahmani River
(C) Damodar River
(D) Shipra River

12. Information Technology (IT) Act, 2000
came into force on

(A) 17th October, 2000
(B) 9th June, 2000

() 1st June, 2000

(D) 1st October, 2000

13. Theaverageage of a group of teachersis 35
and of principals is 50. If the average age of the
whole group of teachers and principals is 40, then
the ratio of the number of teachers to the number
of principals is

(A) 1:2
(B) 2:1
C 1:1
D) 5:1

14. The Asiatic Society of Bengal (founded in
1784) owes its origin to

(A) Sir William Jones
(B) Warren Hastings

(C) Sir James Makintosh
(D) James Princep

15. Under which Article of the Constitution of
India can an individual move the Supreme Court
directly in case of any violation of Fundamental
Rights?

(A) 13
(B) 14
<) 32
(D) 34

D-4

11. EacFal 56 ANToa S (I A9 ©iF ?
(A) LR
(B) Er=md
(C) Wit =it
(D) et =

12, o9 &3f& @iz, 2000 PR AE—
(A) 17th October, 2000
(B) 9th June, 2000
(C) 1st June, 2000
(D) 1st October, 2000

13. el R 56 T30 T 35 R G
STFS 51T T 2 50 | 3R T P @ e
SIS T 40 28, I RN @ SE MR At
A

(A) 1:2
B) 2:1
(C) 1:1
D) 5:1

14, 1784 wiE R GIRIRG o @E-a3
(A) Ti9 TN @
(B) SANEH &P
(C) 0iF (S WRPIBI
(D) (e faiEst

15. SR TR RN SRR S G e
wiiae FEEd (FE em IS FRElE e
I TS NEF?

(A) 13
(B) 14
(C) 32
(D) 34



16. The President of the Swaraj Party was
(A) Motilal Nehru
" (B) M. M. Malavya
(C) Chittaranjan Das
(D) M. R. Jayakar

17. Whatis the pnmary funcnon of the human

kidneys?
(A) Digestioh ¥
(B) Filtrationi?fﬁibddahdwasteexcretion
(C) Oxygen transport
(D) Regulation of bolly temperature

18. The 'sum of two numbers 1s 8 and then'

product is 16. Then the value of thé sum of* the
reciprocals is

(A) 2
1
® 7

{C 1
(D) 4

19. Petroglyphs means
(A) the chipping of rocks to make tools.
(B) the treatment of rocks with petrol.

(C) some substance of a rock surface is

removed through engraving,
chiselling or scooping for rock art.

(D) the treatment of rock surfaces with :

petrol before painting on them.

20. Rahul can dig the garden in 30 minutes,
while his father takes 20 minutes, How long should
they take if they work together?

(A) 10 min
(B) 12 min
(C) 15 min
(D) 6 min

!
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16. TS N7 oS fege
(A) W™ eF
(B) @, ¥, MY
(C) Poagm wi
(D) 9%, SI49. 7L

. 17, s e aiafes e e
(A) = RITF
(B) 7%= i tﬂﬁ"@ﬁﬁﬁﬂ
(C) wIfEwew e
(D) =TT STl e

(18, T MY eIT 8 R W 161 B

| O SIS SRYIF @R T A

(A 2

o1
® 3
© 1
(D) 4

19. Petroglyphs Wit
- (A) ~iles PR T 2fear o
(B) CoItgr™ e s 2w
(C) R+ fog ARIL-CAE, Tt @,
o T Fen-fim w1

(D) CoRfBe-a7 et Rema ofroe (il
AR, 2EfS |

20. AT 3o F15i1 et 30 B s (s
©ig 1 20 [t T st |€muawm7ﬂww
TS I FS 2

(A) 10 5
(B) 12 ff G
(O) 15FfG
(D) 6 TG
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21. The geological period to which major coal
deposits of the world belong is—

(A) Cretaceous
(B) Jurassic
(C) Devonian

" (D) Carboniferous

22. Who propounded the motto “Go back to the -

Vedas™?
(A) Swami Dayanand Saraswati
(B) Bal Gangadhar Tilak
(C) Vishnu Shastri Bapat
(D) N areqdra Nath Dutta

23. Bysellingacomputer for¥ 36,000, adealer
makes a 20% profiton the cost price. At what price
should the computer be sold to make a 25% profit?

(A) 37,500
(B) ¥ 38,000
(C) 38,500
(D) 39,000

24. Which Vitamin is known as Riboflavin?
(A) VitaminB,
(B) VitaminD
(C) Vitamin C
(D) Vitamin A

25. A tap drips water at a constant rate of

0.03 ml per second. How many litres is that per

day?
(A) 2592
(B) 0.2592
(C) 0.1080
(D) 2.592

D-6

21. TRrea syt e e goifes @ ARl
e b 2T —

(A) frohms
(B) wifre

(C) ereifsam
(D) FHERTE

22. @ “E@miEae” G9T SYiem swikEm
(A) FIN TR STTFO!
(B) A amiyg oo
(C) Toge i@ TG
(D) TGN 7S

23, 5 FEITHIF 36,000 Bt e RiE wa

@Fe [=ia FINETT 20% e S| 25% e
TACO FHOHHED TS A R e A

(A) 37,500 BreIm
(B) 38,000 5/
(C) 38,500 Bfa
(D) 39,000 5

24. @ feoifiE R aem sikfbe?
(A) TeBiE B,
(B) TS6iffM D
(C) feofim C
(D) Fooifim A

25. <6 7 (WP Fm AT 0.03 WEEGE o
&\ GITTCS 0% | 1 &Ao" T o Ate?
(A) 2592
(B) 0.2592
(C) 0.1080
(D) 2.592




26. What is the chemical symbol. for Silver?

(A) Au
(B) Ag
(C) Cu
(D) Mg

27. How much water must be added to 8 litres
ofa90%acid solution tomake a 75% acid solution?

(A) 1.5 litres
(B) 1.4 litres
(C) 1.2 litres
(D) 1.6litres

28. The Harappa Age is also called the
(A) Stone Age ‘
(B) Iron Age
(C) Ice Age
(D) Bronze Age

29. Archipelago is
(A) the shallow part of the sea.

(B) the slowly moving mass of ice-down

a mountain. .
(C) the ring shaped coral reef.
(D) a group of islands.

30. In a federal system power is—
(A) Shared
(B) A monopoly
(C) Non-existent
(D) Held by a group of dictators

D-7 CMRI/22

26. T RS SO [
(A) Au
(B) Ag
(© Cu
(D) Mg

27. &3 8 fE6ICas 90% wUife Ffere=ss 75%
SIS G Tt T Bl ot s sare A e

(A) 1.5 o . :
(B) 140 | o
©) 120" .
(D) 1.6 e

28, [WHILAE e @
(A) =93
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(D) &g
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31. The doctor ordered Riya to take tablets
every 9 hours. If she took the first tabletat 11 AM
at what time Riya take her 8th tablet?

(A) 5AM
(B) 8 AM
(©) 11 AM
D) 2 AM

32. AandB start from the same place and trave]
in the same direction, B starting 2 hours after A. If
A travels 40 km/h and B travels at 50 km/h, how far
will they have travelled when B overtakes A?

(A) 400 km
(B) 200 km
(C) 500 km
(D) 100 km

33. ‘Ignited Minds’ is authored by
(A) Vandana Shiva
(B) Chetan Bhagat
(C) Arundhati Roy
(D) A.P.]. Abdul Kalam

34. Findthe value of acarbought forlf‘ 2.50,000
if it depreciated at 20% p.a. after 3 years.

(A) ¥2,00,000
(B) T1,20,000
(C) ¥1,28,000
(D) ¥1,30,000

35. Epigraphy is—
(A) The study of i mscnptmns
(B) Graphical Map
(C) The detection of epics
(D) The study of epics

D-8

31. wreiTar Rt fos firafe o w95t e
@Fy [re | 7 &1 29w Sgy wie 11 5 i A
WA 8-w @S -5 FA?

- (A) FIET 55
(B) ¥t 8 Bt
(C) 99 11 5@
(D) 3fd 2 @G

32. A 93¢ B 9% TISH (ATE A9 92 s T
oF T T8 B 71 oF T AT TG OF @R
2951 AITF | I A-~q9 1w 40 R/ 9%t 9= B4
siferast 50 66/ 9%1 2, O T @9 AW B, A-@
Rt WA

(A) 400 i
(B) 200 &
(€) 500 R¥fa
(D) 100 ff

33. ‘Ignited Minds’ <3 i< %@G?
(A) I Pt
(B) (5 SHE
(C) wFwe! I
(D) «. {91, (o7, S Bt

34. 3 3 AT @1 27 2,50,000 G @8
a6 fS I=7 20% T 3 4, IR 3 T2F A 9T
[ TS LA?

(A) 2,00,000 Bt
(B) 1,20,000 B
(C) 1,28,000 Bt
(D) 1,30,000 Bzt

35. Epigraphy &1 —
(A) e s
(B) elifret o
(C) YR *FEded
(D) TRITIT SGIF




36. What is the medical term for a low platelet

count in blood?
(A) Thrombocytosis
(B) Thrombocytopenia
(C) Haemophilia
(D) Leukocytosis

37. Which phenomenon is responsible for the
formation of a rainbow when sunlight interacts in
the water droplets in the atmosphere?

(A) Diffraction
(B) Refraction and reflection
(C) Dispersion
(D) Interference

38. Malpighian Tubules are found in
(A) Respiratory system |
(B) Circulatory system ,
(C) Digestive system ‘
(D) Excretory system

h

39. Slavery was abolished in India by an Actin
(A) 1829
(B) 1833
(C) 1843

D) 1858

40. Write the next term of the series.
5,11,19,29, ...
{A) 39
B) 41
(C) 40
(D) 42
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36. 0T T (ABEG AN HiFaamiing F =1
e
(A) SCEPTRGIFH
(B) YCamREIHRT
(C) il
D) FeemiEEItH

37. A SIE IR O GRS
T AN COfFT Tl W I o1 2
(A) s
B) #feT=9 @ afsyem
(C) famzad
(D) Ifee™

38. Malpighian Tubules CFIT e T2
(A) ot
(B) IZTET
(C) ~Aveorg
(D) ooty

39. (I N ewd WY ©ECe wiadl
R =e
(A) 1829
(B) 1833
(C) 1843
(D) 1858

40. =iffa el 7B et |
5,11,19,29, ...

(A) 39
@) 41
(©) 40
(D) 42
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41, District Primary Education Programme
(DPEP) was started in

(A) 1990
(B) 1994
(C) 1998
D) 1956

42. Fundamental Rights contained in Part III of
the Constitution of India is in

(A) Articles 12 t0 35
(B) Articles 1210 32
(C) Articles 36to 51
(D) Article 51A

43, The 1st Woman President (1917) of Indian
National Congress Party was

(A) Annie Besant
(B) Sarojini Naidu
(C) Nelle Sengupta
(D) Aruna Asaf Ali

44, 20% of a number is equal to 73% , then the

original number is

(A)

(B)

©)
D) 1

45, Inasaleall items price are reduced by 25%.

If a customer paid ¥ 6,750 for a sound system,
then what was the regular price of the sound
system?

(A) T27,000

(B) ¥20,250

(C) ¥9,000

(D) ¥5,400

D-10

41. (o etefi Rt (DPEP) Sy v
(A) 1990 A
(B) 1994
(C) 1998 A=A
(D) 1956 A

42, Ay WRYEK L -7 (LI GNET
wigiE RIe TEE—
(A) A 12 (AT 35
(B) 0 12 (4T 32
(C) STIEM 36 (AT 51
(D) SR S1A

43. SIFoT IO T Ao AL TSRS
(1917) =
(A) SO 5
(B) Al WG
(C) @ FHad
(D) = SPTE SiS

1
44, 3% AT 20% 30 o0, ol e 2™

@) =

(B)

©

6
1
5
1
2
D) 1

45, <36 G 74 SNER wIW 25% 26 ¢redl
2foET | e AR 6,750 B 36 A sy
(AT, O3 @Y oS v 5 o

(A) 27,000 B :
(B) 20,250 Bt
(C) 9,000 izt
(D) 5,400 it




46. The Indian Fisheries Act was enacted on
(A) 1897
(B) 1899
(C) 1882
(D) 1984

47. Ramesh is 16 years older than Suresh.
20 years later Ramesh’s age will be four times the
present age of Suresh. The present age of Ramesh
is

(A) 12 years
(B) 28 years
(C) 36 years
(D) 32 years

48. Wind rose diagram is u. 9& to represent
which of the following? o

(A) Duration of winds onty’

(B) Flows between central places and
dependent places

(C) Wind directions and duration

(D) Directions of winds only

49. Viticulture is related to the cultivation of
(A) Apple
(B) Orange
(C) Grape
(D) Wheat

50. If x’ = 3 then the value of x¥ - 25 is
(A) -13
(B) 30
(©) 56
(D) -15

D-11
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(B) 1899 A=
(C) 1882 e
(D) 1984 A=
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mwmaﬁmwmqmlm
FEAW T
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51. Phillipand Kevinmade 60 paper flowers. If
Phillip made 3 paper flowers while Kevin made 2,
then how many did Phillip make?

(A) 36
B) 24
() 30
(D) 20

52. A womanreduced her weight from 95 kg to
76 kg. Then the decrease per cent is

(A) 18%
(B) 9%
(©) 20%
(D) 10%

53. Every morning Raj jogs to his work 8 km
away at a constant speed of 12km/h. How much
time is saved if he cycles one morning at a speed
of 20km/h?

(A) 24 min
(B) 40 min
(C) 16 min
(D) 12 min

54. Twotrainsaretravelling towards each other
on adjacent tracks. The first train is 86 m long and
is moving at 120 km/h. The second train is 64m
long and is moving at 150 km/h. Find the time that
elapses from the second that the trains first meet
until they completely pass each other.

(A) S Sec
(B) 2 Sec
(C) 8 Sec
(D) 10 Sec

55. The best way of providing value education
is through
* (A) discussions on scriptural texts.
(B) lectures/discourses on values.
(C) seminars/ symposia on values.

(D) mentoring/ reflective sessions on
values.

51. Rl e @i fee 60 B Fteiwa o1 tof
3 | T et 3 o ptstvera 31 tofa St 749 @fem
2 15 ot o, o %fet cilb - ioitera =1 tofd
JOACL?

(A) 36
(B) 24
(C) 30
(D) 20

52. TS WEE OF €T 95 (I (AT I
76 (& T | BIZCEH *oFal CTH A T
(A) 18%
(B) 9%
(C) 20%
(D) 10%

53, aifSfm e e 8 i e lees ey
12 758/ 9%1 = sifore wite (Te 31 | «iae e
o 20 /a5t (@us! AT I (I i TS
A <5a e :

(A) 24 [fFG
(B) 40 fif5
(C) 16 G
D) 12 {5

54. 7 @7 ATEa i I@ S AR
@IS | 2w GRoe O 86 Rlb ¥k sfersl
120 ffi/=% BSm Gaa g 64 o @
sfe@e 150 Bi/e% o cas [ Gl
AT eI Sfows T

(A) 5 OIS
(B) 2 T
(C) 8 TS
D) 10 TS
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56. A square PQRS is drawn on a paper and it
was folded in half to form a rectangle of perimeter
30 cm. Then the perimeter of PQRS is

(A) 15cm
{B) 60cm
{C) 50cm
(D) 40 cm

57., The Blue Water Policy was associated
with

' (A) Vasco da Gama

(B) F de Almeida

(C) Albuquerque

{D) Alfonso de Souza

58. Tirthankara means—
(A) Three knowledgeable people
(B) The third World
(C) Ford Maker
(D) A liberated human bemg

59. The area of a square park is equal to that of

a rectangular field of length 96 m and breadth -

54 m.-The length of the side of the square is
(A) 72m
(B) 94 m
(C) 68m
(D) 80m

~

60. If 3 cans of dog food will feed 2 dogs for
1 day, then how many dogs can be fed from 42 cans
for 4 days?

(A) 6
®B) 5
o7
(D) 8

56. FitE B PQRS IMewa oIt 2 @<k
G Wi 1T 3@ 9 30 A ARERRE
bgeE (ofd 91 =11 ©1T QRS- #IRifd ==

(A) 15 &R
(B) 60 I
*(C) 500
(D) 40 G

57. W o Aifod AN TT &=
(A) it 7t st
(B) 9% f& Sesis!
(©) wleTgre
(D) e € et
!

58, SiefEq AMEw—
(A) Toem =iat T
B) wom fed
(©) cors ffiet
(D) e el A

59, I A CFaTT NI I B TSI
AR TR (7 96 TGt e 27 54 R o crame
0 | Foff ARG @l I e w

) 712
(B) 94 1%
(C) 68 1%
(D) 80

60. Tft 310 TR ANER (FG! (LT I

4 WA Toolt T LeT T2
(A) 6 '
(B) 5
© 7
(D) 8
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66. A container when half full holds 3.6 litres.

How much more fluid is ne‘e-dt_id to make it % full?
(A) 7.2litres
(B) 4.8 litres
(C) 1.2litres
(D) 2 litres

67. Who is regarded as the Father of Algebra?
(A) Al Khwarijmi
(B) Aryabhatta
(C) Ramanujan
(D) Pythagoras

68. It costs of a family of two adults and three
children ¥ 2,800 to go to a show. If a child’s ticket

cost % of the price of an adult’s ticket, then the
cost of an adult’s ticket is

(A) T 600

(B) ¥800

(C) 500

(D) ¥700

9 .1
69. 4(1/1E +125J_

(A) 50
(B) 45
(©) 55
(D) 30

70. The greatest 4-digit number which is a
perfect square is

(A) 9999
(B) 1000
(C) 9801
(D) 9900
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66. 3 #Aiq T4 =T SfF 7w, B4 3.6 vt
419 | AT = waﬁ@%wmww
ﬁﬁmwemw?

(A) 7.2 R
(B) 4.8 @
(€) 1263
. (D) 270"

67, I3 Aweifices T Tl =2
(A) == LeTFSE
(B) =il
(C) AreE
(D) s

68. T ATTE G fomem ey oo e
(I &= 2,800 GBIt 49nt 7| Al @S fieg
oRB 7 @3 s @i BRGT e
G T, SR G WWWWW

(A) 600 Tt
(B) 800 Bt
(C) 500 it
(D) 700 5

9 1
4 /._ =|=9
69. [ 116+122J

(A) 50
(B) 45
(©) 55
(D) 30

70. 4%3@??{%«3@@
(A) 9999
(B) 1000
(C) 9801
(D) 9900
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71. Ravihas an average of 93 on 2 maths tests.
What minimum marks does he need on his next
tests to bring his average up to 957

(A) 96
(B) 99
€) 98
D) 95

72. What is the smallest unit of information?
(A) Bit
(B) Byte -
(C) Gram
(D) Hertz

73. If %—- of my pocket money is ¥ 60, then the

total pocket money I received was
(A) 2100
(B) T120
(C) T 150
(D) X180

74, What is the week’s wages earned by a
person who gets ¥ 3,700 per week plus 2%
commission on the sale of goods in excess of
¥ 1,00,000, if his sales total is ¥ 2,40,0007

(A) ¥ 8,500
(B) T 4,800
(C) ¥6,500
(D) 2,800
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71. 77 o WE A= 1T g9 TH 93 | A
AT AL TS THI (AT OFF 51T 459 95 g ?
(A) 96

(B) 99
(C) 98
D) 9 -

72. SR FEON G N ?
(A) Bit
(B) Byte
(C) Gram
(D) Hertz

73. i SN T % e T 60 B, O

I e4FE ColtaRE
(A) 100 Brt
(B) 120 5=
(C) 150 Bt
(D) 180 5w

74, T YiET AR TG[7 Fo TF, I fol
3,700 5131 37 2 Atz #A q=ITi 1,00,000 BT
QR =1ty T Soiw 2% S #iw, 3 SR e
2,40,000 SR <oy /i Fe

(A) 8,500 Bl
(B) 4,800 il
(C) 6,500 Izl
(D) 2,800 By
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75. A petrol pump can hold enough petrol to
supply 80 cars with 35 litres each. Hence the
number of cars it can supply with 50 litres petrol

.are

(A) 50
(B) 56
(C) 60
(D) 66

76. If the combined daily wage of 5 men is
¥ 3,750, how much will 20 men earn in a week?

(A) %2,05,000
(B) ¥ 1,25,000
(C) ¥1,05,000
@) % 1,50,000

77. Whichriver was the Vijayanagarakingdom
situated on?

(A) Krishna
(B) Godavari
(C) Cauvery
(D) Tungabhadra

78. Which nutrient is a primary contributor to
eutrophication?
(A) Nitrogen & Phosphorous
(B) Calcium & Phosphorous
(C) Magnesium & Sulphur
(D) Magnesium & Potassium

79. Who among the following can be removed
by the President without Parliament’s resolution?

(A) Judge of a High Court

(B) Govemnor of a State

(C) Chief Election Commissioner
(D) Comptroller and Auditor General

CMRI/22
75. «3fB (oI stiveet 80 T st 35 v o
I ARIRZ, THD T AWEAT CoNRA O |
TSR (A Al Touf i 50 FvE I
(G fATS 20, O A3t 2|
(A) 50
(B) 56
(C) 60
D) 66°

76. W 5 T @ @6 offe g ok @
3,750 BT, 20 T (15 6 HENE TS (IS0 1 2
(A) 2,05,000 Grt
(B) 1,25,000 5t
(C) 1,05,000 Grpt
(D) 1,50,000 St

77, Rewmera g @R Thw S TS et ?
(A) =
(B) (oIMIRa!
©) IR
(D) grredl

78, (I EomE SRR Al
SRR ? i

(A) TRETE 9R TP
(B) TR G2 T
(C) SRR 3R e
(D) IR G+

79, TN (RGETA =S gl e e
AT $0S “iltgn ?

(A) BRI Romife

(B) M sfeefa

(C) ey Fafsw shrdar

(D) Fiee @3} SfesT comitae
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80. Fourwomen, A,B, CandDinvested money
in the ratio 1:4:7:8 in their business. Their
profits were -distributed according to their
investment. If after one year C’s share of the profit
was ¥35,000, then the B’s share of the profit was

(A) T 5,000

(B) ¥ 20,000
(© 25,000
(D) T 30,000

81. In a multiple choice test, 8 marks are
awarded for each correct answer and 5 marks are
subtracted for each incoriect answer. If after 26
questions are answered, Raghu scored 0, how
many questions did he answer correctly?

(A) 13
(B) 10
(C) 15
(D) 18

82. What is the primary factor that determines
the pitch (frequency) of a sound produced by a
musical instrument? ‘

(A) Volume of the instrument
(B) Length of the vibrating part

(C) Material from which the instrument is
made

(D) The instrument player’s skill level

83. The value of a new car is T 4,00,000. If in
the first year its value is decreased by 10%, find the
value of the car in the beginning of the second
year? '

(A) ¥3,96,000
(B) ¥3,00,000
(C) ¥3,60,000
(D) ¥ 3,20,000
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80. A, B, C 9% D, g o= Wfeem 1:4:7:8
SRS il RIS T SIoE (@I JIRATS |
SR FIS A St T I oIt ore RfRTesiw
TS | T OF J2F A C-aF Feed ARt W

35,000 B, LI B4 wIICH faaid 7=

(A) 5,000 B
(B) 20,000 St=l
(C) 25,000 Bt
(D) 39,000%m

81. «I T siwcaa AdwE Aol AE
et & 8 7 (e T Gk AR e et ey
559 W T I 26 T 2oia Tex Faiw 9 9
TH9 0 2W, O3 FoulE 2ris Ten (71 i feafea o

(A) 13
(B) 10
(©) 15
(D) 18

82. b AMTF A SAMS G =i {916 Al
i Rded s o ke mige e
(A) TCES SR
(B) e QR (e
(C) T TR (AT 77 (i AR
(D) THGEID (FAIT ol B

83. 76 WO A% =T 4,00,000 Bt | A U
g oM ST 10% I AW, T TO T
oFCS AT [T T 2

(A) 3,96,000 Bi=st
(B) 3,00,000 G
(C) 3,60,000 Bl
(D) 3,20,000 Big
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89. India recently hosted thc 13th BRICS
Summit in which city?

(A) New Delhi
(B) Mumbai
(C) Bengaluru
(D) Goa

'90. Rohan took a loan of ¥ 1,500 with simple
interest for as many years as the rate of interest. He
paid ¥ 240 as interest at the end of loan period. Thus
the time period he has taken to.return the loan is

(A) 4 years
(B) 16 years
(C) 8 years
(D) 2 years

91. The motto"“Satyameval ayate” —Truthalone
triumphs is written in

(A) Devanagari Script
(B) Kharosthi Script
(C) Gupta Script

(D) Kalinga Script

92. Non-conformity to social norms is called
(A) Social change
(B) Deviance
(C) Social conflict
(D) Struggle

93. Mariana Trench is located in which ocean?
(A) South Atlantic
(B) North Atlantic
(C) West Pacific
(D) East Pacific

L
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89. S 7S (TN *2@ 13©% BRICS e
SIS I ?

(A) G
(B) TR
(C) @RI
(D) ¢otra

90. (¥ 1,500 T e I 419 fcafes T
A G O A A 2 e, 240 S M
1 417 (515 R, IR OIF 417 G T S ieiG 22
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(B) 16 I8
(C) 8=
(D) 2929

" 91, R orereR THTe” TR Y I
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99, A man and his son set out for a walk. The
boy’s average step is two-third of his father’s. If
the father has taken 120 steps find how many does
the son take?

(A) 60
(B) 80
(C) 100
(D) 120

100. Rakesh sold his bike at a loss of 20%. If he
sold it for ¥ 5,400 more, he would have sold itata
10% profit. How much did he pay for the bike?

(A) T 18,000
(B) ¥ 10,000
(C) ¥20,000
(D) T 22,000

D-22

99, B (TP R O (=TF 2600 ([ 2 | (’EFA
ST Givl O AU 916 4iTet qe-pome | T forer
120 16 419t (79, ©IR (=7 FOuf 419 (3

(A) 60
(B) 80
(C) 100
(D) 120

100, I (GRS 20% Fere A
Tafe | T N Sme 5,400 B @R e o7
B 10% #e Taro “Aiaren | o[ Fo vigl foff
Gt RwfeEe 2

(A) 18,0005 .

(B) 10,000 B

(C) 20,000 Bt

(D) 22,000 Bt
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